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The following table shows the distance travelled by a boat moving upstream (in km) during five
different days of a week from Monday to Friday, along with the speed of boat (in km/hour), speed
of stream (in km/hour) and total time taken (in hours). Some data is missing in the table (indicated
as ') that you are expected to calculate, if required. Based on the data in the table, answer the
questions that follow.

Day-Wise Distance covered by a Boat and other Details

D Distance Speed of Speed of Total Time

i Upstream(km)|Boat(kmyhour)| Stream(km/hour) [Taken(hours)
Monday 320 - 4 -
Tuesday - - - 75
Wednesday 270 - 6 -
Thursday - 11 7 -
Friday 324 - - 72

Note: (1) Distance Upstream = Distance Downstream, if not stated otherwise
(2) Total Time Taken = Downstream Time + Upstream Time



Sub questions

Question Number : 1 Question Id : 87827039054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

On Friday, if the ratio of speed of boat to speed of stream is 2 : 1, then what is the difference
between the time taken by the boat to go upstream and to go downstream ?
(1) 36 hours

(2) 42 hours
(3) 45 hours
(4) 35 hours

Options :

878270153441. 1
878270153442. 2
878270153443. 3

878270153444. 4

Question Number : 2 Question Id : 87827039055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Monday, if the difference between the time taken by the boat to go upstream and to go
downstream is 20 hours, then what is the total time taken by the boat to go upstream and
downstream ?

(1) 40 hours

(2) 30 hours
(3) 80 hours
&

4) 60 hours

Options:
878270153445. 1

878270153446. 2
878270153447. 3



878270153448. 4

Question Number : 3 Question Id : 87827039056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Tuesday, if the difference between the time taken by the boat to go upstream and downstream
is 45 hours and the downstream speed is 24 km/hour, then what is the total distance covered by
the boat to go upstream and downstream ?

(1) 680 km

(2) 720 km
(3) 740 km
(4) 540 km
Options :

878270153449. 1
878270153450. 2
878270153451. 3

878270153452. 4

Question Number : 4 Question Id : 87827039057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Wednesday, if the boat covered half of the distance upstream with usual speed and other half

3
with double its speed and it takes 331 hours less time the usual time to go upstream, then what is

the total time taken by the boat to go upstream and downstream ?
(1) 128 hours

2) 120 hours
3) 108 hours
)

(
(:
(4) 92 hours

Options:

878270153453. 1



878270153454. 2
878270153455. 3

878270153456. 4

Question Number : 5 Question Id : 87827039058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Thursday, the difference between the time taken by the boat to cover X km upstream and
(X+120) km downstream is 26 hours. Had the boat covered the same distance upstream as
downstream, then what would have been the difference in the time taken ?

(1) 58 hours

(2) 62 hours
(3) 48 hours
(4) 56 hours
Options :

878270153457. 1
878270153458. 2
878270153459. 3

878270153460. 4

Question Id : 87827039053 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Question Number : 1 Question Id : 87827039054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270153441. 1
878270153442. 2
878270153443. 3



878270153444. 4

Question Number : 2 Question Id : 87827039055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(3) 809
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Options :
878270153445. 1
878270153446, 2
878270153447. 3

878270153448. 4

Question Number : 3 Question Id : 87827039056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270153451. 3

878270153452. 4

Question Number : 4 Question Id : 87827039057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270153453. 1
878270153454. 2
878270153455. 3

878270153456. 4

Question Number : 5 Question Id : 87827039058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270153457. 1
878270153458. 2
878270153459. 3
878270153460. 4
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Question Number : 6 Question Id : 87827039059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following tools can be used for virtual labs and simulations ?

(I) Plotagon

(2) Wakelet
(3) PhET Interactive Simulations
(4) Flipgnd

Options :

878270153461. 1
878270153462. 2
878270153463. 3

878270153464. 4



Question Number : 6 Question Id : 87827039059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153461. 1
878270153462. 2
878270153463. 3

878270153464. 4

Question Number : 7 Question Id : 87827039060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the driving force for students’ commitment, engagement and perstistence
in self-directed learning ?

) Fixation

) Motivation

) Metacognition
) Assessment
Options:
878270153465. 1
878270153466. 2
878270153467. 3

878270153468. 4



Question Number : 7 Question Id : 87827039060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270153465. 1
878270153466. 2
878270153467. 3

878270153468. 4

Question Number : 8 Question Id : 87827039061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Passive style is a way of dealing with conflict in which people are nonassertive
and submissive and don't let others know what they want.

Statement I :  Manipulative style is a way of dealing with conflict in which people try to get
what they want by making others feel guilty for them.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct

Options:



8782701534609. 1
878270153470. 2
878270153471. 3

878270153472. 4

Question Number : 8 Question Id : 87827039061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153469. 1
878270153470. 2
878270153471.3

878270153472. 4

Question Number : 9 Question Id : 87827039062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When students, who have learned to type on a typewriter, transfer this skill to typing ona computer
keyboard, it is an example of learning ?
(1) Far transer

2

High-road transfer

(
(3
(

)
3)  Near transfer
)

}

Low-road transfer
Options:
878270153473. 1
878270153474. 2
878270153475. 3
878270153476. 4

Question Number : 9 Question Id : 87827039062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153473. 1
878270153474, 2
878270153475. 3

878270153476. 4

Question Number : 10 Question Id : 87827039063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which factor plays a crucial role in creating an effective learning environment ?
(I) Teacher's qualification

(2)  Availability of instructional facilities
(3) Focus on foreign language use
(4) admission to students from elite class

Options :

878270153477. 1
878270153478. 2
878270153479. 3

878270153480. 4

Question Number : 10 Question Id : 87827039063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options:
878270153477. 1
878270153478. 2
878270153479. 3

878270153480. 4

Question Number : 11 Question Id : 87827039064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Iclent'Lfy the software that would be useful for statistical anaJysis of data generated In a research
study :

(A) SPSS

(B) Ithenticate

(C) MINITAB

(D) R

Choose the correct answer from the options given below :
() (A), (B) and (C) Only

) (B), (C) and (D Only

) (A), (C) and (D) Only

) (A)

4 (A), (B)and (D) Only

2
(3
(
Options:
878270153481. 1
878270153482. 2
878270153483. 3

878270153484. 4

Question Number : 11 Question Id : 87827039064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270153481. 1
878270153482. 2
878270153483. 3

878270153484. 4

Question Number : 12 Question Id : 87827039065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : The quantitative content analysis in social science research is a very transparent
research method.

Statement (II) : The quantitative content analysis is often referred to as obtrusive method.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

878270153485. 1

878270153486. 2

878270153487. 3

878270153488. 4

Question Number : 12 Question Id : 87827039065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270153485. 1

878270153486. 2

878270153487. 3

878270153488. 4

Question Number : 13 Question Id : 87827039066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of a published research article, DOI stands for :

(1

) Data Object Integration
(2) Digital Object Identifier
(3) Data Object Interface
(4) Digital Object Interface
Options :

878270153489. 1
878270153490. 2
878270153491. 3

878270153492. 4

Question Number : 13 Question Id : 87827039066 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153489. 1
878270153490. 2
878270153491. 3

878270153492. 4

Question Number : 14 Question Id : 87827039067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following measures would be useful for commenting upon the degree of asymmetry
in a statistical distribution ?

(1
(2
(3
(

Central tendency

Kurtosis

4)  Skewness

; Dispersion
)

)

Options:
878270153493. 1
878270153494. 2
878270153495. 3

878270153496. 4

Question Number : 14 Question Id : 87827039067 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153493. 1
878270153494. 2
878270153495. 3

878270153496. 4

Question Number : 15 Question Id : 87827039068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “vide” used inacademic
writing ?

(I) against

(2) width

(3) refer to

o

namely
Options:
878270153497. 1
878270153498. 2
878270153499. 3

878270153500. 4



Question Number : 15 Question Id : 87827039068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153497. 1
878270153498. 2
878270153499. 3

878270153500. 4

Question Number : 16 Question Id : 87827039069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A kind of fixation with medium itself is ::nnceptualised as :

(1) Hypermediacy

(2) Immediacy

(3) Media tendency

(4) Multi-mediacy
Options :

878270153501. 1
878270153502. 2
878270153503. 3

878270153504. 4

Question Number : 16 Question Id : 87827039069 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270153501. 1
878270153502. 2
878270153503. 3

878270153504. 4

Question Number : 17 Question Id : 87827039070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The cyberspace is normally compared to a type of electronic :
(1) Screen
(2) Salon
(3) Complex
)

(4) Agora

Options:

878270153505. 1
878270153506. 2
878270153507. 3

878270153508. 4

Question Number : 17 Question Id : 87827039070 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153505. 1
878270153506. 2
878270153507. 3
878270153508. 4

Question Number : 18 Question Id : 87827039071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true in respect of communication ?
(A) Communicated meanings are always ambiguous.

(B) Words are symbols for concepts.

(C) Labels may be ambiguous.

(D) Symbols are usually understood within a group.

(E) Sharing of meaning is not possible in communication.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3)  (C), (D) and (E) Only
(4) (A), (B) and (E) Only

Options :
878270153509. 1
878270153510. 2

878270153511. 3



878270153512. 4

Question Number : 18 Question Id : 87827039071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

8782701535009. 1

878270153510. 2

878270153511. 3

878270153512. 4

Question Number : 19 Question Id : 87827039072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : Communication cannot reflect the cultural conduct of people
Statement (II) : Communication is a practice integral to formation of social life

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270153513. 1

878270153514. 2

878270153515. 3

878270153516. 4

Question Number : 19 Question Id : 87827039072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FARUME

FUT (1) :  HUU A o WIEH{ah SR PGSR Tl TRl ¢ |
U (II) : T g Sitem & i % fo v sfasda gon 2
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2

(2) YT 13 AR 11 S T §

(3) YT TR &, Wifehd e 11 7Terd ¢

(4) U T &, TR HOR LT &

Options :

878270153513. 1

878270153514. 2

878270153515. 3



878270153516. 4

Question Number : 20 Question Id : 87827039073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I Communication is a social process in which people use symbols to interpret
meanings in their own environment

Statement 11 : Peoplte and their inferactions are not part of the communication process, because
communication cannot be social

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement Il are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options :

878270153517. 1

878270153518. 2

878270153519. 3

878270153520. 4

Question Number : 20 Question Id : 87827039073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:ﬂﬁﬂwﬁqw%:
O] T T HI Tiha ¢ o am or W o e H o fuR e o o

1 37 F B
O 11 ; G T 37 vl T e s e =k feen e 2t & e i At 76 @
T |

TG o S §, A9 o T fommed | o U S T I
(1) o1 S o 1 3 9

() 1SR FIR 11 e ¢

() F IR ¢, olfod RO 1T ¢

(4) UL ¢, Tl FUT Il €

Options:

878270153517. 1
878270153518. 2
878270153519. 3

878270153520. 4

Question Number : 21 Question Id : 87827039074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A car starts running with the initial speed of 50 km/hour, with its speed increasing every hour by

5 km per hour. How many hours will it take to cover a distance of 630 km ?

(1) 7 hours

(2) 9 hours

(3) 6 hours

(4) 8 hours
Options :
878270153521. 1
878270153522. 2
878270153523. 3

878270153524. 4



Question Number : 21 Question Id : 87827039074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T &R 50 foesie o sfors i @ SR e e 6 g R 5 e e U e 71 630 el
H g A 2 e s )
(1) 7%
) 9%
3) 6%
4) §¥
Options :
878270153521. 1
878270153522. 2
878270153523. 3

878270153524. 4

Question Number : 22 Question Id : 87827039075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a factory, the average salary of the employees is ¥ 7000. If the average salary of 12 officers is
< 40000 and that of the remaining employees is ¥ 6000, then the number of employees is :

(1) 402

(2) 404

(3) 406
(

4) 408

]

)
)
)

Options:

878270153525. 1
878270153526. 2
878270153527. 3

878270153528. 4



Question Number : 22 Question Id : 87827039075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot Wt o A 0 ol 9 27000 §1 A 12 fonfel @ e oM % 40000 S S
T 1 S0 A 2 6000 2, T FHA o G e
(1) 402
(2) 404
(3) 406
(4) 408
Options :
878270153525. 1
878270153526. 2
878270153527.3

878270153528. 4

Question Number : 23 Question Id : 87827039076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum of three numbers is 124. If the ratio between the first and the second is 2: 3 and between
the second and the third is 7 : 9, then the third number is :

(1) 48

(2) 54
(3) 64
(4)

]

4) 66

Options:

878270153529. 1
878270153530. 2
878270153531. 3
878270153532. 4



Question Number : 23 Question Id : 87827039076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A1 Teel 301 124 %1 4 Vel 4R gt T o o SR 2:3 € A4 T SR e it e
7:9% 9 dd Hem @
1) 48
(2) 54
(3) 64
(4) 66
Options :
878270153529. 1
878270153530. 2
878270153531. 3

878270153532. 4

Question Number : 24 Question Id : 87827039077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the value of P in the fﬂllmviﬂg number series ?
2. 38 5. B s

(1) 3120
7. S 74
(3) 2045
(4) 630
Options:

878270153533. 1
878270153534. 2
878270153535. 3
878270153536. 4



Question Number : 24 Question Id : 87827039077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafea s s@en § P =1 7 foFawn gm 2

(), 2, 28 Fad, By o

(1) 3120
(2) 1029
(3) 2045
(4) 630
Options :

878270153533. 1
878270153534. 2
878270153535. 3
878270153536. 4

Question Number : 25 Question Id : 87827039078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The cost price of an article is 75% of its marked price for sale. How much percent does the trades-
man gam after a]lowing a discount of 15% ?
(1) 20%

1
13=%
o 13
(3) 10%
2
15=%
HRES
Options:

878270153537. 1
878270153538. 2

878270153539. 3



878270153540. 4

Question Number : 25 Question Id : 87827039078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
forel o 91 TR e 3 forh o fer T 1 75% 1 15% F 92 ¢ F v AR A R
e 2 T 2
(1) 20%
1

) 13=%
o 1
(3) 10%

2
15=%

@ b3
Options :

878270153537. 1
878270153538. 2
878270153539. 3

878270153540. 4

Question Number : 26 Question Id : 87827039079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are so related that they cannot both be true, nor can they both

be false ?

(A) All mammals are vertebrates.

(B) Some mammals are vertebrates,
(C) Some mammals are not vertebrates.
(D) No mammals are vertebrates.

Choose the correct answer from the options given below :
() (A)and (B) Only

(2) (B) and (D) Only

(3) (C) and (D) Only
(4) (A) and (D) Only
Options:
878270153541. 1
878270153542, 2
878270153543. 3

878270153544. 4

Question Number : 26 Question Id : 87827039079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeeferfin o § 9 9 97 39 Te W TG & 6 o O 9 T @ o € AR T S B WA €
(A) T TR Fe €

(C) T8 T FH T ¢

(D) 13 Sf Tt ] T |

7 feu T foered % 9 W SR T i
A (A) 4 (B)

Options :



878270153541. 1
878270153542. 2
878270153543. 3

878270153544. 4

Question Number : 27 Question Id : 87827039080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logically equivalent to the statement - “All rectangles are
polygon” ?

(I) Some rectangles are polygon.

(2
(
(

No reclzmgles are nonapalvgnn.

s |

}

; No non-rectangles are non-polygon.
) All non-polygons are rectangles.
Options :

878270153545. 1

878270153546. 2

878270153547. 3

878270153548. 4

Question Number : 27 Question Id : 87827039080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frfefan # 8 #F 7 F97 Tk T F 30 F97 % q0ged ¢ - 9 A T ¢ ?

(1) T 3790 g4 &

() ot S TR-a e T B
(3) I ot o TR-agye I ¢
(4) Tl -G ST ¢ |

Options :



878270153545. 1
878270153546. 2
878270153547. 3

878270153548. 4

Question Number : 28 Question Id : 87827039081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing intension :
(A) Cheese

(B) Dairy product

(C) Soft Cheese

(D) Strong soft cheese

Choose the correct answer from the options given below :

(1) (B), (A), (©), (D)

(2) (B), (D), Q) (A)
(@) (D) (), B), (A)
4) (D) (O (A) (B)

Options :

878270153549. 1
878270153550. 2
878270153551. 3

878270153552. 4

Question Number : 28 Question Id : 87827039081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ffefiaa gl =l Toned % TRl A H Hared Hifg
(A) TR

(B) g™ SIS

(©) ¥g TR

(D) it §g TR

= feu v fasredi § 9 9 39T & =9IH HifeU

(1) (B), (A), (©), (D)

(2) (B), (D), (O), (&)
(3) (D) (©), (B), (A)
4) (D) (©), (A) (B)
Options:

878270153549. 1
878270153550. 2
878270153551, 3

878270153552. 4

Question Number : 29 Question Id : 87827039082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Political stabﬂit}r s indispensable to economic progress because economic progress can 011l_v be
achieved by means of political stability” Which informal fallacy is committed in the above
statement ?

(I) Slippery Slope

(2) Red Herring

(3) Hasty Generalisation
(4) Begging the question
Options :
878270153553. 1
878270153554. 2
878270153555. 3

878270153556. 4



Question Number : 29 Question Id : 87827039082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" e e enfeler e ¥ e arfterd & it snfo wfe St Trovifo o 3 et 2 €1
% 9 Gl ¢ 1" S0 F B T SR T ¢

(1) TR Bem

(2) Ve Heokd (T2 &)
(3) ot qER
(4) ST g
Options :
878270153553. 1
878270153554. 2
878270153555. 3

878270153556. 4

Question Number : 30 Question Id : 87827039083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The proposition “The hill has fire because it is knowable” commits the fallacy of
the irregular middle,

Statement I :  The proposition “Sound is eternal, because it is audible” commits the fallacy of
the irregular middle.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement II is correct

Options:



878270153557. 1
878270153558. 2
878270153559. 3

878270153560. 4

Question Number : 30 Question Id : 87827039083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬁwmﬂﬁﬁz

FUA1: 79 yfoara e W e € FifE T ga e e ver 1 R B
HOT ;35 Yfosfta ' 3 wver , TF 7 45 ' H afafid wed o e g
IR FUA F S 8, e fou 0 fored § ¥ e SURgE I H T H ;
(1) S 3R w1 I T &

() WA 1 3R H 1 T e €

(3) U LTI &, ek oM 117 @

(4) Y 1TEM &, Tl e 11 7 ¢

Options :

878270153557. 1

878270153558. 2

878270153559. 3

878270153560. 4

Question Number : 31 Question Id : 87827039084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I :  Google is a web search engine, while google chrome is a web browser.
Statement I1:  Microsoft Edge is a web search engine, while Microsoft Bing is a web browser.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270153561. 1

878270153562. 2

878270153563. 3

878270153564. 4

Question Number : 31 Question Id : 87827039084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FARUME

FATL: 70 TF o G 35 ¢ STl T M o6 A1 ¢ |

HUT I TEFHIGR U UF 96 9 39 ¢ ek HIsshaie fam U od e § |
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) YT TR &, Wifehd e 11 7Terd ¢
(4) U T &, TR HOR LT &
Options :

878270153561. 1

878270153562. 2

878270153563. 3



878270153564. 4

Question Number : 32 Question Id : 87827039085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the fnllnwing memory hieral'ch}; diagl'am:

Cache
Memory

f s 3
/ Solid State Storage \

11

/ Optical Disk Storage \
/ . \

Which of the following memories A-D represent [, II, [Il and IV (in that order) ?

Increase in Cost per bit
Increase in Access Time

(A) Magnetic Tape

(B) Magnetic Hard Disk

(C) Random Access Memory

(D) Processor Registers

Choose the correct answer from the options given below :
(1) D) (C), (A) (B)

() (4), () (©) D)
() (B) () (D), (A)
@) @) (©), ({B) (4)
Options :
878270153565. 1

878270153566. 2



878270153567. 3

878270153568. 4

Question Number : 32 Question Id : 87827039085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfiea #ar | sme R/ fo=r #ifs ;

yfa fae =rma ° afg
S
&
7
il
st wa § gfg

T

Ly

/ v \
frfafiad o | 9 9 560 A-D (35 FH ) 11, 11 SRV i 97 & 7
(A) Fraw 2

T we feeh
(C) =W UaEd HAN
(D) 9rHER Tseed
A9 fou o foepedi H 9 W@ SR F1 T9H FIf9C

(1) (D) (©), (A) (B)
) (A), (B), (C), (D)
) (B), (O (D), (4)
) (D) (©) (B), (A)

(2
(3
(4

Options :



878270153565. 1
878270153566. 2
878270153567. 3

878270153568. 4

Question Number : 33 Question Id : 87827039086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - 1I
(ICT Term) (Definition)
(A) Firewall (I)  Used torememberuser’s preferences each time they visit websites

(B) Digital certificate  (I) Hardware or software that sits between a user's computer and
an external network, which filters data coming to and from the

computer

(C) Cookies (IIT) Software, firmware or hardware that creates and runs a virtual
machine

(D) Hypervisor (IV) Pairs of files stored on user’s computer; each pair contains a

pub]ic l(E}’ and private key
Choose the correct answer from the options given below :

(1) (AM, B)-(), (CHIV), (DHI)

(@ (AH), (BHIV), (C)(I), (DA
(3) (AL, B)-V), (©)-(), (D)
(@) (AHII), BHLV), (©-{1), DK)
Options :

878270153569. 1
878270153570. 2
878270153571. 3

878270153572. 4

Question Number : 33 Question Id : 87827039086 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 o 91 G-I 1 e it

T I
(am & w) (e

(A) wETa () R a9 W T F e P A% T % fou |

() fefwed WM () IR A WIS S YA % F S AR Tea & we feem
I € S 92§ -9 9t 2R A et 0 ¢

€ F#H (L1 oI, ol 21 BIE i STt 79T 157 0 & A Seffera
G201

(D) R (IV) IR % FE W AT Tel & g, T g Wt
%o o Pt of 2 &1

1 feu U ol W § W& S 1 7 T

(L) (AH, B)-), (CHLV), (DHII)

@ (A-D, BHIV), C)(L), (DHII)

() (A)I), B)-[V), (C-(1) (D))

(4)  (AM), BHIV), (©-{1), D}

Options :

878270153569. 1
878270153570. 2
878270153571. 3

878270153572. 4

Question Number : 34 Question Id : 87827039087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following Ms-Excel work sheet :

A B C
1 | Month |Number of classes taught | Payments (in ¥ ) made @ 1500 per class
2 | January 20 30000
3 | February 14 21000
4 | March 17 25500
5 | April 13 19500
6 May 12 18000
7 | June 15 22500

The value returned by the function

=SUMIFS (C2 : C7, B2 : B7, “>13", C2.: C7, “>22500") is :
) 78000
) 76500
) 99000
)

55500

Options:

878270153573. 1
878270153574. 2
878270153575. 3

878270153576. 4

Question Number : 34 Question Id : 87827039087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafaa Ms-Excel 95 ¥ie W foam #ifew :

A B C
i - ST T RN | Uedeh hell & 1500 FUY & femma
! weaT ® feram e ypram (T H)
2 | weh 20 30000
3 ETCH 14 21000
1 e 17 25500
5 T 13 19500
6 7 12 18000
7 E4 15 22500
et
=SUMIFS (C2: C7, B2 : B7, “>13", C2 : C7, “>22500") SR U1 AM ¢ :
(1) 78000
(2) 76500
(3) 99000
(4) 55500
Options:

878270153573. 1
878270153574. 2
878270153575. 3
878270153576. 4

Question Number : 35 Question Id : 87827039088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements with refers to the different number systems :
Statement [ : (0.68?5)10 — (I].'lﬁll)2
Statement 11 (111011.1[]1)2 = (58.(325)10

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270153577. 1

878270153578. 2

878270153579. 3

878270153580. 4

Question Number : 35 Question Id : 87827039088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fafir dem yonferdi o e ® & Fom faw g
FEL: (0.6875), = (0.1011),
FITM:  (111011.101), = (38.625),
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) FETIE &, ol HYT 1 Tewd @
(4) U T &, TR HOR LT &
Options :
878270153577. 1
878270153578. 2

878270153579. 3



878270153580. 4

Question Number : 36 Question Id : 87827039089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Photovoltaic cells produce Alternating current (a.c.).

Statement II:  Photovoltaic cells are exposed directly to the sun, therefore as temperature rises
leakage accross the cell increases.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270153581. 1

878270153582. 2

878270153583. 3

878270153584. 4

Question Number : 36 Question Id : 87827039089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fﬁﬁﬂ@ﬂﬁ'@ﬂ%‘:

T TR T Ve T (TA,) 3 g

TR :  HRETT S W v () B senfd 2 €, o 5 avm A o 2 T i E
R-R fra) o o £

T 9 & AR H, T 30 T forpedl o U S T I

(1) HOR S FR T T4 €

(2) YR 1 30 e 11 EFf e

(3) ORI ¢, oo R 117Tew ¢

(4) IR 1T ¢, T ehem 11 81 ¢

Options:

878270153581. 1

878270153582. 2

878270153583. 3

878270153584. 4

Question Number : 37 Question Id : 87827039090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwmg pairs of elements 1s most important for eutrophjcatinn process ?
(1) Calcium-magnesium

(2) Nitrogen-phosphorus

(3) Nickel-cobalt

(4) [rnnucnpper

Options :

878270153585. 1

878270153586. 2

878270153587. 3

878270153588. 4

Question Number : 37 Question Id : 87827039090 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

frferfigd H § 19 del 1 3 quied (Feiwy) Tkl o fou gaifes wemg & 7
(1)  Hfcamm-Hfefmm

Options :

878270153585. 1
878270153586. 2
878270153587. 3

878270153588. 4

Question Number : 38 Question Id : 87827039091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The standard coagulant in water reatment is ?
(1) Hypochloride
(2) Chlorine

(3) Aluminium
(4) Alum
Options:

878270153589. 1
878270153590. 2
878270153591. 3

878270153592. 4

Question Number : 38 Question Id : 87827039091 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el ieA W W% THeF ¢

Options :

878270153589. 1
878270153590. 2
878270153591. 3

878270153592. 4

Question Number : 39 Question Id : 87827039092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : PM, is preferred over Total Suspended Particles (TSP) for air quality monitoring
studies.

Reason (R):  Particles larger than 10 micron are better indicator of potential health effects of
particulate air pollution.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270153593. 1

878270153594. 2



878270153595. 3

878270153596. 4

Question Number : 39 Question Id : 87827039092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 2 FH ICQ'Q UQ%: L&) AR (Assertion A) % ®9 ¥ fafaa % a [l T HT (Reason R) F

wHE

e (A) 9 ) o 1 R £ A o T g fettom i (3 Te o) @ g (@
T),, T 300 G T ¢

FOTR): 10N o 0 faferr A W TfoR TR JoTE o JEw G ¢

U FA o et H, el feu 0 ool o IR S A A

1) (A) ¥ (R) S W& & 3R (R), (A) F TE €A €

D) (A) 8 (R) ST &1 &, WA (R), (A) H 9K A T

3) (A) T € o (R) TE T €

4 (A)T W S Ol (R) T B

Options :

(
(
(
(

878270153593. 1
878270153594. 2
878270153595. 3

878270153596. 4

Question Number : 40 Question Id : 87827039093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  The Richter Scale measures not only the intensity of earthquake itself, but its
impact on people too.

Statement Il ;  The modified Mercalli scale measures the Earthquake in terms of energy released.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270153597. 1

878270153598. 2

878270153599. 3

878270153600. 4

Question Number : 40 Question Id : 87827039093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A4 @ A UM E
TR Tt S 3 e e 1 e 1 F e aed R 3 T F o
¢l

I TG (fewre) W @ ywe ), e 3 & w0 H A g
TR FH % el H, A4 fe0 0 forred o § He S S A I
(1) ISR BRI T
() TSR HIR 11 T
() R IT & o FIF T ¢
(4) R 1T ¢, A o 1R
Options :

878270153597. 1
878270153598. 2



878270153599. 3
878270153600. 4

Question Number : 41 Question Id : 87827039094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Open universities was established in accordance with the National Education
policy, 1986 :

(I) Dr. BR Ambedkar Open University, Heyderabad

(2) Indira Gandhi National Open University, Delhi

(3) Karnataka State Open University, Mysore

(4)  Yashwant Rao Chavan Maharashtra open University, Nasik
Options :

878270153601. 1

878270153602. 2

878270153603. 3

878270153604. 4

Question Number : 41 Question Id : 87827039094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

friferfad W | @i 99 fovafarey TR e i, 1986 % STER wif faan @ a7

(1) Ealam, seres fovafmmem, s

(2) 3w el i e fevafeeren, feeeh

(3) e T5d W favaifareer, W

(4) TIEd Te TR HEE oK foafererd, TEeH

Options :
878270153601. 1

878270153602. 2



878270153603. 3

878270153604. 4

Question Number : 42 Question Id : 87827039095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following universities in ancient India had six colleges each under them and had a lot
of exchange of ideas between them ?

(A) Sridhanya katak

(B) Nalanda

(C) Takshashila

(D) Vikramashila

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (D) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options :

878270153605. 1
878270153606. 2
878270153607. 3

878270153608. 4

Question Number : 42 Question Id : 87827039095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



el e feferfn # § 36 9 favfermerl § 9o & SR % Hed 9 o 3% a6

g1 ARH-T5H gl 2
(A) 49 &
B) T

(C) wfoen

(D) fersrfyrer

e feu T foeredt o © W S 1 T e
(1) % (A) 0 (B
Q) % @B) % ()
() 9 (C) 4R (D)
(4) o (4) 4 (D)
Options :

878270153605. 1
878270153606. 2
878270153607. 3
878270153608. 4

Question Number : 43 Question Id : 87827039096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the establishment of following universities in India :
(A) Agra University
(B) Delhi University
(C) Nagpur University
(

(

e

D) Andhra University

E) University of Calcutta
Choose the correct answer from the options given below :
(M) @) (©) (A), E) )
@ () (®) (), D), (A)
@) (€, (D), (A), (E) (B)
() (A),(E), (), D) €
Options:
8782701536009. 1
878270153610. 2
878270153611. 3

878270153612. 4

Question Number : 43 Question Id : 87827039096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
R o fAfaiga fayafoeredl i 3T T & HIesraTaR W :
(A) R faveEfeEmer™
(B) fecedt favafaamc
(C) AR fergafer=me
(D) 3 fevafeamTy
(E) et favafaare
e fou 7 foskedi § ¥ W ST A1 FF9 FHINT

(1) (B), (©) (A), (E), (D)
2 (B (B) (C) (D), (A)
(3)  (©), (D) (A), (E), (B)
@) (A) (B, B), D) ©



Options :

878270153609. 1
878270153610. 2
878270153611. 3
878270153612. 4

Question Number : 44 Question Id : 87827039097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List - I List - II
(Commission/Committee) (Focus area)
(A) Sadler Commission (I)  Functioning of UGC and AICTE
(B) Hartog Committee (I}  University education in India
(C) Radhakrishnan Commission ~ (Ill) Comprehensive report on education in India
(D) Yashpal Committee (IV) Functioning of Calcutta university

Choose the correct answer from the options giuen below :

(1) (AHID, B, C)-(1), (D}-IV)

(2) (A, (B)IV), (CH(H), (D)-(1)
(3)  (AMI), (B)-(I), (CH1V), (D)(IL)
(4)  (AHIV), (BHI), (CHI), (D))
Options :

878270153613. 1
878270153614. 2
878270153615. 3
878270153616. 4

Question Number : 44 Question Id : 87827039097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |19 Gelt-11 =1 fiei IS
-1 T-11

( T afafa) (WIHH &)
(A) HER &M () 3 G SR T R Gl 3 S o
(B) @2 Hfufd (1) vRa ¥ favafaeme faen
(C) THFOH HEM (II1) I o v 9¥ =2mge e
(D) =TTl Wiwfd (IV) el favafaered &1 wraeEt
At foau U fospedi H § W& I FH TAH HIWC ;

(1) (A1, (B)-(), (O)-0), (D)-{IV)
(2)  (A)-(II), (B)-(IV), (C)-(II), (D)-(D)
B) (A1), (B}-(I), (C)-(1V), (D))
(4) (A1), (B)-(I), (C)-(1T), (D)-(1)
Options :

878270153613. 1

878270153614. 2

878270153615. 3

878270153616. 4

Question Number : 45 Question Id : 87827039098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Financing higher education in a country like India depends upon availability of
resources and other financial implications.

Statement II:  According to NEP 2020, funding and financing of higher education will be carried
out by the second vertical of Higher Education Commission of India i.e, Higher
Education Grants Council.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270153617. 1

878270153618. 2

878270153619. 3

878270153620. 4

Question Number : 45 Question Id : 87827039098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153617. 1
878270153618. 2
878270153619. 3
878270153620. 4

Sub-Section Number : 3
Sub-Section Id : 8782701643
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827039099 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Tiger reserves are an important part of our tourism industry. There are 42 declared tiger reserves
in India which are generally operated by state forest departments. Indian tiger, also known as
Bengal tiger is the national animal of India. Its scientific name is Panfliera tigris tigris. Tigers are
maintained in reserves for their scientific, economic, aesthetic, cultural and ecological values and
they are kept as national heritage for the education and enjoyment of the people.

But in recent years tiger tourism has become a troublesome issue due to the rapid growth of killing
of tigers due to illegal poaching. This ia a wakeup call not only for the department of tourism but
also for the various wildlife organisations and other governing bodies. Since the governments have
failed to implement adequate enforcement response and investigations, wildlife crimes have increased
by years. Today there are some activists and environmentalists who are demanding a complete
ban on public access to wildlife reserves. But such a complete ban would be a setback.

There is no question that commercial tourism must be strictly regulated, however a complete ban
would be an extremely harmful step, as it will negatively impact conservation education, monitoring
and other conservation activities.

Sub questions

Question Number : 46 Question Id : 87827039100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Tiger tourism has become a problem in recent years because :
(1) There are too many tigers

(2) Tigers kill people

(3) Tourists disturb tigers

(4) There is illegal poaching of tigers
Options :

878270153621. 1
878270153622. 2
878270153623. 3

878270153624. 4

Question Number : 47 Question Id : 87827039101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Solution to the problem of wild life crimes can be found by :
(1) Banning public access to wildlife reserves

(2) Banning tiger tourism

(3) Regulating commercial tourism

(4) Curtailment of wild life population

Options :

878270153625. 1

878270153626. 2

878270153627. 3

878270153628. 4

Question Number : 48 Question Id : 87827039102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A pmtected area for animals, plaﬂls etc. is called :

(1) A Reserve
(2) A Forest

(3) Countryside
(4) Cantonment

Options:

878270153629. 1
878270153630. 2
878270153631. 3

878270153632. 4

Question Number : 49 Question Id : 87827039103 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tigers are kept in reserves for the fDllDw'mg reasons :

(A) Ecological value
(B) Cultural value
(C) Agricultural value
(D) Aesthetic value
(E) Medicinal value

Choose the correct answer from the options giv en below :

(1) (A), (B) and (D) Only

(2) (B), (C) and (D) Only
(3) (), (D) and (E) Only
(4) (A), (D) and (E) Only

Options :

878270153633. 1
878270153634. 2
878270153635. 3

878270153636. 4

:No

Question Number : 50 Question Id : 87827039104 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ; Banning commercial tourism will positivel}r impact conservation activities,
Statement I1:  Panthera I:'gr:'s n'gris is the national animal of India.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270153637. 1

878270153638. 2

878270153639. 3

878270153640. 4

Question Id : 87827039099 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827039100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e1e1 o 91 H 23T yded Uk W91 &9 71 § it
(1) <R %l G&A1 d9ga ATHF ¢ |

(2) <R AN Sl AR BT ® |
(3) WHE 2T R AN A €
(4) T 1 Y IR e B
Options :

878270153621. 1
878270153622. 2
878270153623. 3

878270153624. 4

Question Number : 47 Question Id : 87827039101 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SSia HeHl ST S G 1 FHIHH e g 9T foRa S wehd @ 7
(1) F=sita fod 7 Qe wed | gfiey e

(2) R YA W GfTEH TR

(3) @ gded 1 fafTafia

(4) T TR H T

Options:

878270153625. 1

878270153626. 2

878270153627. 3

878270153628. 4

Question Number : 48 Question Id : 87827039102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yypadi, Tt anfe & forg wefar & 1 @ e S €

(1) FR=E
(2) =4
(3) <EM
(4) BrEAl
Options:

878270153629. 1
878270153630. 2
878270153631. 3

878270153632. 4

Question Number : 49 Question Id : 87827039103 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2RI 1 Frefafas sl § o § v am e
(A) WRFrfarE 9o
(B) HIEHTF HeH

(C) =Y e
(D) Hr=<d9F g
() Tafwrda go

H3 few o faereal § § WE S 1 =9 T
(1) %9 (A), (B) IR (D)

(2) %9 (B), (C) ¥R (D)

(3) FaA (C), (D) ¥R (E)

(4) 9 (A), (D) 3R (E)

Options :

878270153633. 1

878270153634. 2

878270153635. 3

878270153636. 4

Question Number : 50 Question Id : 87827039104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270153637. 1
878270153638. 2
878270153639. 3
878270153640. 4

Social Medicine and Community Health

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

878270917
2

Online
Mandatory
92

92

200

Yes

0

1
8782701644
Yes

null



Question Number : 51 Question Id : 87827039105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the full form of acronym “GOARN" ?

(I) Global Outbreak Alert and Recovery Network

(2) Geographical Outbreak Assessment and Response Network
3) Global Outbreak Alert and Response Network

(4) Global Outbreak Assessment and Response Network

Options :

878270153641. 1

878270153642. 2

878270153643. 3

878270153644. 4

Question Number : 51 Question Id : 87827039105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

'St 3T T SR TA' 1 X AW 9T R ?

(1) Telad 33T e g kel A2de

(2) AR HEHH THHHE UUE foqiy Heash
(3) T 33T e WS feefiq Jeah

(4) ToIET TSSO THEHE TS fEqiy Heas
Options :

878270153641. 1
878270153642. 2
878270153643. 3

878270153644. 4



Question Number : 52 Question Id : 87827039106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Special Newborn Care Unit (SNCU) is established at which level of health facility ?
(1) Sub-centre

o)
(3) Community health centre
(4)  District hospital

Primary health centre

Options :

878270153645. 1
878270153646. 2
878270153647.3

878270153648. 4

Question Number : 52 Question Id : 87827039106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153645. 1
878270153646. 2
878270153647.3

878270153648. 4

Question Number : 53 Question Id : 87827039107 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the other name of ‘Health belief Model’ ?
(1) Triandis Model

(2) Transtheoretical Model of Change

(3) Behaviour change model

(4) Information Education and Communication model
Options :

878270153649. 1
878270153650. 2
878270153651. 3

878270153652. 4

Question Number : 53 Question Id : 87827039107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

'Ee foclie Hiea’ &1 gau W F1 8 ?

(1) zrifeq Hre

(2) rafrEfese Hiee AfE =

(3) Taefoaw == Afea

(4) THETT TSHIA UT FHEAHRIA Ared
Options:

878270153649. 1
878270153650. 2
878270153651. 3

878270153652. 4

Question Number : 54 Question Id : 87827039108 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per “Family Planning Indemnity Scheme 2013" claim amount for failure of sterilization after
sterilization operation as given in the Manual for Family Planning Indemnity Scheme,
March 2016 ?

(1) 20,000

(2) 25,000

(3) 30,000

(4) T 50,000
Options :
878270153653. 1
878270153654. 2
878270153655. 3

878270153656. 4

Question Number : 54 Question Id : 87827039108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

"oftam freirom effofd A1’ 2013 % ST s & AR A SR ER T SReR T €,
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(1) ¥20,000

¢ 25,000

2)
(3) 30,000
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Options :

878270153653. 1
878270153654. 2
878270153655. 3

878270153656. 4

Question Number : 55 Question Id : 87827039109 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Among the given options in regard to First Referral Unit, all are essential requirements EXCEPT :
(I)  Provide emergency obstetric support

(2) Provide immediate newbom care
(3)  Management of skin infections
(4) Have blood storage facilities
Options :

878270153657. 1
878270153658. 2
878270153659. 3

878270153660. 4

Question Number : 55 Question Id : 87827039109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

W ISR S 3 Gty o e foeredt o @ forer aftfiom weft weny (o) ememd @ &2
) SR T T 5

) A TR BT 39

) A T G

) T Fe gfael # g

Options:

878270153657. 1

878270153658. 2

878270153659. 3

878270153660. 4

Question Number : 56 Question Id : 87827039110 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the vector of Kyasanur Forest Disease (KFD) ?
(1) Mosquito

(2) Ticks
(3) Louse
(4) Mite
Options :

878270153661. 1
878270153662. 2
878270153663. 3
878270153664. 4

Question Number : 56 Question Id : 87827039110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) fe=
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(4) Y&HHIZ (WREL)
Options :

878270153661. 1
878270153662. 2
878270153663. 3

878270153664. 4

Question Number : 57 Question Id : 87827039111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

All of the following are the measures of dispersion EXCEPT :
(I) Range

(2) Inter quartile range

(3) Mean

(4) Coefficient of variation
Options :

878270153665. 1

878270153666. 2

878270153667. 3

878270153668. 4

Question Number : 57 Question Id : 87827039111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270153665. 1

878270153666. 2

878270153667. 3

878270153668. 4

Question Number : 58 Question Id : 87827039112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the fnllowing contraceptive device is an example of First Generation [ntra-uterine device

(IUD)?
(1) NovaT
(2) Multiload
(3)  Lippes loop
g

a2

}

ngesluserl

Options:

878270153669. 1
878270153670. 2
878270153671. 3

878270153672. 4

Question Number : 58 Question Id : 87827039112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153669. 1
878270153670. 2
878270153671. 3

878270153672. 4

Question Number : 59 Question Id : 87827039113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Among the given options with regard to Critical Path Method in network analysis, all are correct
EXCEPT :

(I) Itis a path in the network

(2) It takes the longest time

(3)  The activities involved are critical activities

(4) It incorporates statistical analysis in determining estimates

Options:

878270153673. 1

878270153674. 2

878270153675. 3

878270153676. 4

Question Number : 59 Question Id : 87827039113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153673. 1

878270153674. 2

878270153675. 3

878270153676. 4

Question Number : 60 Question Id : 87827039114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

All of the following are areas of concern (or types) of rehabilitation, EXCEPT :
(1) Medical rehabilitation

(2) Organizational rehabilitation

(3)  Social rehabilitation

(4) Vocational rehabilitation

Options :

878270153677. 1

878270153678. 2

878270153679. 3

878270153680. 4

Question Number : 60 Question Id : 87827039114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153677. 1
878270153678. 2
878270153679. 3

878270153680. 4

Question Number : 61 Question Id : 87827039115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following is target by the year 2030 regarding the global maternal mortality
ratio, as part of Goal 3.1 of the Sustainable Development Goals (SDG's)

(I) Reduction to 0 per 100,000 live births

(2) Reduction to less than 30 per 100,000 live births

(3)  Reduction to less than 70 per 100,000 live births

(4)  Reduction to less than 300 per 100,000 live births

=y

Options:

878270153681. 1
878270153682. 2
878270153683. 3
878270153684. 4

Question Number : 61 Question Id : 87827039115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153681. 1

878270153682. 2

878270153683. 3

878270153684. 4

Question Number : 62 Question Id : 87827039116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Among the given options all are the steps of 'Phenomenological’ research approach EXCEPT :
(1) Bracketing
2

(2) Restorying
(3) Horizonalization
()

4)  Clusters of meaning
Options :
878270153685. 1
878270153686. 2
878270153687. 3

878270153688. 4

Question Number : 62 Question Id : 87827039116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153685. 1
878270153686. 2
878270153687. 3

878270153688. 4

Question Number : 63 Question Id : 87827039117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The revised 2015 Jones criteria is used as a diagnostic tool for the diagnosis of which diseases ?
(1)  Alzheimer's disease

(2) Stroke

(3)  Rheumatic Heart Disease (RHD)

(4) HIV/AIDS

Options:

878270153689. 1

878270153690. 2

878270153691. 3

878270153692. 4

Question Number : 63 Question Id : 87827039117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153689. 1
878270153690. 2
878270153691. 3

878270153692. 4

Question Number : 64 Question Id : 87827039118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In normal distribution curve, area covered under Mean * 2 Standard Deviation is approximately :

(1) 68 %
2 %%
(3) 9%
(&) 9%
Options:

878270153693. 1
878270153694. 2
878270153695. 3

878270153696. 4

Question Number : 64 Question Id : 87827039118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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(4) 99 %
Options :
878270153693. 1
878270153694. 2
878270153695. 3
878270153696. 4

Question Number : 65 Question Id : 87827039119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As per census 2011, India’s average annual exponential growth rate (%) was 1.64. Taking this
rate into consideration, number of years required for the population to double in size will be.

(1) 23-28 years

(2) 28-35 years
(3) 3547 years
(4) 47-70 years

]

Options:

878270153697. 1
878270153698. 2
878270153699. 3

878270153700. 4

Question Number : 65 Question Id : 87827039119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153697. 1
878270153698. 2
878270153699. 3
878270153700. 4

Question Number : 66 Question Id : 87827039120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Among the given options in context of India, which ministry of the government of India is identified
as the nodal ministry for the welfare of the disabled.

()
(2) Ministry of Labour

(3) Ministry of Health and Family Welfare
0

Ministry of Social Justice and Empowerment

Ministry of Education
Options :
878270153701. 1
878270153702. 2
878270153703. 3

878270153704. 4

Question Number : 66 Question Id : 87827039120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153701. 1
878270153702. 2
878270153703. 3

878270153704. 4

Question Number : 67 Question Id : 87827039121 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Which among the following is the best (nearest) representation of the proportion of population of
India that lives in rural areas, as of the year 2022 ?

(1) 45%
(2) 5%
(3) 65%
&) 7%
Options :
878270153705. 1
878270153706. 2
878270153707.3

878270153708. 4

Question Number : 67 Question Id : 87827039121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153705. 1
878270153706. 2
878270153707.3

878270153708. 4

Question Number : 68 Question Id : 87827039122 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

All are the survey based sources of Information in epidemiology EXCEPT :

(1) Census

(2) Sample surveys

(3) National Family Health Survey (NFHS)
(4) Records of hospitals

Options :

878270153709. 1
878270153710. 2
878270153711.3

878270153712. 4

Question Number : 68 Question Id : 87827039122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153709. 1

878270153710. 2

878270153711. 3

878270153712. 4

Question Number : 69 Question Id : 87827039123 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Denominator while calculating crude literacy rate in India is :
(1) Total population irrespective of age in a given year

(2) Population aged 5 and above in a given year
(3) Population aged 8 and above in a given year
(4) Population aged 10 and above in a given year
Options :

878270153713. 1
878270153714. 2
878270153715. 3
878270153716. 4

Question Number : 69 Question Id : 87827039123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153713. 1

878270153714. 2

878270153715. 3

878270153716. 4

Question Number : 70 Question Id : 87827039124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Who is the main person providing Home based newborn care (HBNC) as per the concerned National
Health Program in India ?

(1) ASHA

(2) Staff Nurse
(3) AWW
(4) LHV
Options :
878270153717. 1
878270153718. 2
878270153719. 3

878270153720. 4

Question Number : 70 Question Id : 87827039124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270153717. 1
878270153718. 2
878270153719. 3

878270153720. 4

Question Number : 71 Question Id : 87827039125 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is best defined as a type of well in which the water rises above the
level of ground water, because it is held under pressure between two impervious strata ?
(1) Artesian well

(2)  Dug well

(3)  Step well

(4)  Tube well

Options :

878270153721. 1

878270153722. 2

878270153723. 3

878270153724. 4

Question Number : 71 Question Id : 87827039125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153721. 1
878270153722. 2
878270153723. 3

878270153724. 4

Question Number : 72 Question Id : 87827039126 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Comparison between the costs of a generic drug and a branded equivalent, assuming to be having
equal effectiveness already established’. Which is the most appropriate economic evaluation
method ?

(I)  Cost effectiveness analysis

(2) Cost minimization analysis

(3)  Cost utility analysis

(4)  Cost benefit analysis

Options :

878270153725. 1

878270153726. 2

878270153727.3

878270153728. 4

Question Number : 72 Question Id : 87827039126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270153725. 1
878270153726. 2
878270153727. 3

878270153728. 4



Question Number : 73 Question Id : 87827039127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Following are the observational analytical epidemiological study designs, EXCEPT :
(1)  Ecological study

2)  Case control study

(2
(3) Case report
(4)

Cohort study
Options :
878270153729. 1
878270153730. 2
878270153731.3

878270153732. 4

Question Number : 73 Question Id : 87827039127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270153729. 1
878270153730. 2
878270153731. 3

878270153732. 4



Question Number : 74 Question Id : 87827039128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per National Health Policy 2017, target to be achieved for under 5 mortality rate by 2025 is :

(1) 10
(2) 16
6) 23
(4) 28
Options :

878270153733. 1
878270153734. 2
878270153735. 3

878270153736. 4

Question Number : 74 Question Id : 87827039128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T e A 2017 % SFER oY 2025 9 5 98 | 4 3 F i F1 90 T A W
(1) 10

(2) 16

3) 23

4) 28
Options :

878270153733. 1
878270153734. 2
878270153735. 3

878270153736. 4

Question Number : 75 Question Id : 87827039129 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Xenodiagnosis in filaria survey includes :

(1) Study of the extent and type of breeding places and other bionomics of mosquitoes

2)  The mosquitoes are allowed to feed on the patient, and than dissected 2 weeks later
) Assessment of clinical manifestation of filariasis with blood examination

4)  Technique for examination of microfilaria on blood smear slide

Options :

878270153737. 1

878270153738. 2

878270153739. 3

878270153740. 4

Question Number : 75 Question Id : 87827039129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153737. 1
878270153738. 2
878270153739. 3

878270153740. 4

Question Number : 76 Question Id : 87827039130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which among the following dimensions of health, best fits the definition “That part of the individual
which reaches out and strives for meaning and purpose in life" ?

(1) Emotional dimension

(2) Mental dimension

(3)  Spiritual dimension

(4)  Vocational dimension

Options :

878270153741. 1

878270153742. 2

878270153743. 3

878270153744. 4

Question Number : 76 Question Id : 87827039130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270153741. 1
878270153742. 2
878270153743. 3

878270153744. 4

Question Number : 77 Question Id : 87827039131 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The full form of acronym ‘SMART when used for objectivesin research includes all of the following
EXCEPT ?

(I) Specific

(2) Measurable

(3)  Acceptable

(4) Rapid
Options :
878270153745. 1
878270153746. 2
878270153747. 3

878270153748. 4

Question Number : 77 Question Id : 87827039131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153745. 1
878270153746. 2
878270153747.3

878270153748. 4

Question Number : 78 Question Id : 87827039132 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Residents of one village is consuming drinking water from one hand pump of village. Over two
days, many residents were started having diarthoea. Which kind of Epidemic best explains the
given scenario ?

(I)  Common Vehicle epidemic

(2) Propagation epidemic

(3)  Seasonal epidemic

(4)  Cyclical epidemic

Options :

878270153749. 1

878270153750. 2

878270153751. 3

878270153752. 4

Question Number : 78 Question Id : 87827039132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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878270153749. 1
878270153750. 2
878270153751. 3

878270153752. 4



Question Number : 79 Question Id : 87827039133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a strategy under National AIDS control programme phase IV ?
(1) Targeted Intervention

(2)  Provision of DOTS (Directly Observed Treatment Shortcourse) for all PLHIV

(3)  Blood transfusion services

(4) Integrated testing and counselling
Options :

878270153753. 1
878270153754. 2
878270153755. 3

878270153756. 4
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Options :

878270153753. 1

878270153754. 2

878270153755. 3

878270153756. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per three delays analysis of causes of maternal deaths by WHO. “Delay 2" is :
(1) Delay in recognising the problem

@

(3) Delay in reaching the health facility
)

Delay in deciding to seek care

Delay in receiving the adequate treatment once a woman has arrived at health facility

Options :

878270153757. 1
878270153758. 2
878270153759. 3

878270153760. 4
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878270153757. 1
878270153758. 2
878270153759. 3

878270153760. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

All of the following are a socio-economic-behavioral determinant of health EXCEPT :
(1)  Economic status

(2) Education

(3)  Lite style factors

(4) Genetic make-up
Options :
878270153761. 1
878270153762. 2
878270153763. 3

878270153764. 4
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878270153761. 1
878270153762. 2
878270153763. 3

878270153764. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sampling interval is calculated in 30 cluster sampling using following formula :
(I) Total cumulative population/30

(2)  One cluster population/30

(3) Total cumulative population/15
(4) Total cumulative population/7
Options :

878270153765. 1

878270153766. 2

878270153767. 3

878270153768. 4

Question Number : 82 Question Id : 87827039136 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0
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878270153765. 1
878270153766. 2
878270153767. 3

878270153768. 4
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Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

What is the extent of perinatal period ?

(I) Extends from 28 weeks of gestation (or 1000 grams birth weight) upto 7 days of life after
birth

(2) Extends from 34 weeks of gestation (or 1500 grams birth weight) upto 7 days of life after
birth

(3) Extends from 7% to 28 day of life after birth

(4)  Extends from 29 day to 365 days of life birth

Options :

878270153769. 1

878270153770. 2

878270153771. 3

878270153772. 4

Question Number : 83 Question Id : 87827039137 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0
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Options :

878270153769. 1
878270153770. 2
878270153771.3

878270153772. 4
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Correct Marks : 2 Wrong Marks : 0

What is the correct full form of “PHEIC” as per the International Health Regulation 2005 (IHR) ?
(I) Public health emergency of International concern

2)  Public health event of International concern

)
3)  Public health emergency of International conflict
)

(
G
(4)  Public health event of International conflict

1
Options :

878270153773. 1
878270153774. 2
878270153775. 3

878270153776. 4
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878270153773. 1
878270153774. 2
878270153775.3

878270153776. 4
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Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Inall of the [Ullnwmg mortality indicators, death in an age range is considered and the lower limit
of the range is day of birth, EXCEPT for one. Which among the following is the indicator where
the range starts from age 1 year and not day of birth ?

(1) Child death rate

) Infant mortality rate
) Neonatal mortality rate
)

2
(3
(4)  Under-five proportionate mortality rate

Options :

878270153777. 1
878270153778. 2
878270153779. 3

878270153780. 4

Question Number : 85 Question Id : 87827039139 Question Type : MCQ Option Shuffling : No
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Options :

878270153777. 1
878270153778. 2
878270153779. 3

878270153780. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The conce pt of iceberg phenomenﬂn of disease is often used in spectrum of disease. The “waterline”
of the iceberg best represents the demarcation between which of the two groups, among the
following ?

(I) Apparent and inapparent cases of disease
(2) Alive and dead cases of disease
(3)  Severe and less severe clinical cases of diseases
(4)  New and old cases of diseases
Options :

878270153781. 1
878270153782. 2
878270153783. 3

878270153784. 4

Question Number : 86 Question Id : 87827039140 Question Type : MCQ Option Shuffling : No
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Options:

878270153781. 1

878270153782. 2

878270153783. 3

878270153784. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In India, all of the following diseases have been known to have higher incidence in lower socio-
economic class as compared to upper socio-economic class EXCEPT ?

(1) Infectious diseases of ears

(2)  Diarrhoeal episodes

(3)  Infant mortality

(4)  Coronary heart diseases
Options :

878270153785. 1
878270153786. 2
878270153787. 3

878270153788. 4

Question Number : 87 Question Id : 87827039141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e # it s sifoftam fmfefaa st I (dofr) 3= qmfos sfd o 9t g ¥ Fe
qIfere enfeles vl o ey O S S 6

(1) Hweh 0 ()
) aifem el e
) fﬂm
) % () FE

Options :

2
3
1

(
(
878270153785. 1
878270153786. 2
878270153787. 3

878270153788. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

All of the following diseases are to be reported under International Health Regulations (IHR) 2005
EXCEPT ?

(1) Cholera

2

2
(3) Yellow fever
(4

Pneumonic plague

4)  Tuberculosis
Options :
878270153789. 1
878270153790. 2
878270153791. 3

878270153792. 4
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878270153789. 1
878270153790. 2
878270153791.3

878270153792. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Qualitative type of Data can be presented best by which one of the following graphs :
(1) Histogram

(2) Line chart

(3)  Scatter Diagram

(4) Pie Chart

Options :

878270153793. 1

878270153794. 2

878270153795. 3

878270153796. 4
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878270153793. 1
878270153794. 2
878270153795. 3

878270153796. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

All of the following are part of numerator while calculating “Global Hunger Index” EXCEPT :
(1) Proportion of undernourished people

()

(3) Maternal mortality rate
(4)

Prnporljnn of children under the age of five who are underweight

Mm‘tahty rate of children under the age of five

Options :

878270153797. 1
878270153798. 2
878270153799. 3

878270153800. 4
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878270153797. 1
878270153798. 2
878270153799. 3

878270153800. 4
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Which of the following elements belong to the primary group in sociology ?
(A) Physical proximity

(B) Large size

(C) Similarity of background

(D) Limited self interest

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

( (B), (C) and (D) Only

(3)  (A), (C) and (D) Only

(4) (A), (B) and (C) Only

Options :
878270153801. 1
878270153802. 2

878270153803. 3

878270153804. 4
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Correct Marks : 2 Wrong Marks : 0
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Options :
878270153801. 1
878270153802. 2
878270153803. 3
878270153804. 4

Question Number : 92 Question Id : 87827039146 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Principles of primary Health Care includes :
(A) Equitable distribution

(B) Immunization against major infectious diseases

(C) Appropriate treatment of common diseases and injuries
(D) Community participation

Choose the correct answer from the options given below :

(I) (A) and (B) Only

(2) (A)and (C) Only

(3) (A) and (D) Only

(4) (B) and (D) Only

Options :

878270153805. 1

:No



878270153806. 2
878270153807. 3

878270153808. 4
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Options :

878270153805. 1
878270153806. 2
878270153807. 3
878270153808. 4
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Which of the following statement are correct for whooping cough ?
(A) Itis also called as “Hundred Day Cough”

(B) It is caused by Respiratory Syncytial Virus

(C) Complications includes bronchopneumonia, bronchiectasis and bronchitis
(D) Oseltamivir is the drug of choice for its treatment

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (A)and (C) Only
(3) (A) and (D) Only
(4) (B) and (C) Only
Options:

878270153809. 1
878270153810. 2
878270153811. 3
878270153812. 4
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8782701538009. 1
878270153810. 2
878270153811. 3
878270153812. 4

Question Number : 94 Question Id : 87827039148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Following are the features of a focus group discussion.

(A) There isa group moderator

(B) Sociogram is prepared

(C) 4 to8 persons who are qualified to talk about topic, sit and discuss a given problem in front
of large group

(D) Recorder prepares the Report

Choose the correct answer from the options given below :

(1) (A), (), (C) Only

(2) (A), (B), (D) Only
(3) (B), (C), (D) Only
(4 (4) ©) (D) Only

Options :

878270153813. 1
878270153814. 2
878270153815. 3

878270153816. 4
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Options :

878270153813. 1
878270153814. 2
878270153815. 3

878270153816. 4

Question Number : 95 Question Id : 87827039149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Double Blinding in Clinical Trials is done when following people are unware of intervention.
(A) Participants

(B) Investigator (Doctor)

(C) Person Analysing the Data

(D) Regulator

Choose the correct answer from the options given below :

(1) (A)and (C) Only

(2) (A)and (B) Only

(3) (A), (B) and (C) Only

(4) (B) and (D) Only



Options :

878270153817. 1
878270153818. 2
878270153819. 3
878270153820. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Shed aEre W Weren e ¢ o 7 foren o & 5 Famafofias @ ewen @ iR AR €
(A) wlasmi

(B) e ()

(C) e o1 forvetem & oren At

(D) fafFame

el few U foeked # 9 W SR o T i ;

(1) (A)dﬂI(Q
2 (r\) (
(3) (A)
(4) (B)

4 B) & (

Options:

878270153817. 1
878270153818. 2
878270153819. 3

878270153820. 4
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In demographic cycle, early expanding stage is characterized by :
(A) High birth rate

(B) Decline in birth rate

(C) High death rate

(D) Dedine in death rate

Choose the correct answer from the options given below :

(I) (A)and (C) Only

(2) (B) and (C) Only

(3) (A) and (D) Only
(4) (B) and (D) Only
Options:

878270153821. 1
878270153822. 2
878270153823. 3
878270153824. 4
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878270153821. 1
878270153822. 2
878270153823. 3

878270153824. 4

Question Number : 97 Question Id : 87827039151 Question Type : MCQ Option Shuffling : No
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Which of the following are screening technique for early detection of breast cancer ?
(A) Breast self-examination

(B) Thermography

(C) Mammography

(D) Visual mspection with acetic acid

Choose the correct answer from the options given below :

(1) (A), (B) Only

(2) (A), (B), (C) Only
(3) (B), (C) Only
(4) (B), (O (D) Only

Options :

878270153825. 1
878270153826. 2
878270153827.3

878270153828. 4
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878270153825. 1
878270153826. 2
878270153827. 3

878270153828. 4
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Which among the following modes of intervention represents tertiary level of prevention ?
(A) Disability limitation

(B) Health promotion

(C) Rehabilitation

(D) Specific protection

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (D) Only

(4) (C) and (D) Only

Options :



878270153829. 1
878270153830. 2
878270153831. 3

878270153832. 4
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(3) @ (B) ¥R (D)
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Options :
878270153829. 1
878270153830. 2
878270153831. 3

878270153832. 4

Question Number : 99 Question Id : 87827039153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



For social support system which of the following are correct statements.

(A) Physical Support : Assisting a visually challenged person to cross the road
(B) Economic Support : Borrowing money from patient for paying his medical treatment
(C) Psychoemotive Support : Emotionally supporting a person of leprosy with love and empathy
(D) Vocational Support : Supporting a patient to get adequate education, training and appropriate
work to support his living

Choose the correct answer from the options given below :

(1) (A)and (B) Only

() (B)and (C) Only
(3) (A), (B) and (D) Only
() (A),(C) and (D) Only

Options:

878270153833. 1
878270153834. 2
878270153835. 3

878270153836. 4

Question Number : 99 Question Id : 87827039153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153833. 1
878270153834. 2
878270153835. 3

878270153836. 4

Question Number : 100 Question Id : 87827039154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per the [ndian public health standards 2022 the staff available at Health and Wellness centres
include who all.

(A) Community Health Officer (CHO)

(B) Multipurpose health worker (female)

(C) Angan Wadi worker (AWW)

(D) Multipurpose health worker (male)

Choose the correct answer from the options given below :
(I) (B) and (C) Only

(2) (B) and (D) Only

(3) (A), (B) and (C) Only

(4) (A), (B) and (D) Only

Options:

878270153837. 1
878270153838. 2
878270153839. 3

878270153840. 4

Question Number : 100 Question Id : 87827039154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270153837. 1
878270153838. 2
878270153839. 3

878270153840. 4

Question Number : 101 Question Id : 87827039155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following are true regardjng Mc Ardle’s Maximum Allowable Swear Rate
calculated as an index of thermal comfort ?

(A) Mc Ardle took 2 litres of sweat exerted in four hours as the maximum allowable sweat rate
(B) Predicted four-hour sweat rate (P,SR) is calculated in it

(C) Combination of both dry and wet bulb temperature of air is used in calculation of PSR
(D) PSR value of 10 is the upper limit of comfort zone

Choose the correct answer from the options given below :

(1) (A)and (B) Only

() (B)and (C) Only
() (A), (C) and (D) Only
4 @ C )fmd (D) Only

Options :



878270153841. 1
878270153842. 2
878270153843. 3

878270153844. 4

Question Number : 101 Question Id : 87827039155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153841. 1
878270153842. 2
878270153843. 3

878270153844. 4

Question Number : 102 Question Id : 87827039156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct in relation to DASH diet
(A) Diet rich in fruits and vegetables

(B) The diet involves absolute zero intake of salt

(C) It encourages increased consumption of dietary fat
(D) It is recommended for patients with hyper tension
Choose the correct answer from the options given below :
(1) (A), (B) Only

(2) (B), (C) Only
(3) (O, (D) Only
(4) (&), (D) Only
Options:
878270153845. 1
878270153846. 2
878270153847. 3

878270153848. 4

Question Number : 102 Question Id : 87827039156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Sl U TH A’ SR ¥ Hay § frafafes § 9 #9 #R 9w wE €2
(A) e a1 Gfeadl ¥ W ARR

(B) 3R H W 1 I Yo WiHe ©

(C) TEH =E & 3feer Yo =1 sgren faar s €

(D) ¥ 3= T =9 a1l ARl o fere i =i Sl @

T feu nu fomredi # 9 Wa SO =99 FH e
(1) e (A), (B)
(2) e (B), ()
(3) e (C), (D)
(4) FE (A), (D)

Options :



878270153845. 1
878270153846. 2
878270153847. 3

878270153848. 4

Question Number : 103 Question Id : 87827039157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A 15 months old child, came for immunisation for the first time (never been vaccinated before)
which of the following vaccines need not be given to the child as per National Immunisation
Schedule of India (year 2022).

(A) BCG

(B) DPT

(C) OPV

(D) IPV

Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (A)and (C) Only
(3) (A) and (D) Only
(4)  (B) and (D) Only

Options :

878270153849. 1
878270153850. 2
878270153851. 3

878270153852. 4

Question Number : 103 Question Id : 87827039157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153849. 1
878270153850. 2
878270153851. 3
878270153852. 4

Question Number : 104 Question Id : 87827039158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Following are included in communication process.

(A) Sender

(B) Receiver

(C) Message

(D) Monitor

Choose the correct answer from the options given below :
(1) (A), (B), (D) Only

(2 (B), (O), (D) Only

(3) (A), (B), (C) Only

(4) (A), and (D) Only



Options :

878270153853. 1
878270153854. 2
878270153855. 3
878270153856. 4

Question Number : 104 Question Id : 87827039158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Hogur yfskan # frefafea § 9 sH e 2 €2
(A) T

H few o fasredl ¥ @ W@ ST @1 59 i
(1) <=d (A), (B), (D)
(2) %99 (B), (C), (D)
(3) %ad (A), (B), (O)
(4) F9A (A), and (D)

Options:

878270153853. 1
878270153854. 2
878270153855. 3
878270153856. 4

Question Number : 105 Question Id : 87827039159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which all of the following steps are part of the planning cycle :
(A) Assessment of resources

(B) Pre planning

(C) Monitoring

(D) Evaluation

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (€) and (D) Only

(3) (A), (B) and (C) Only
(4) (A), (C) and (D) Only
Options :

878270153857. 1
878270153858. 2
878270153859. 3
878270153860. 4

Question Number : 105 Question Id : 87827039159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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878270153857. 1
878270153858. 2
878270153859. 3

878270153860. 4

Question Number : 106 Question Id : 87827039160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following are a part of the definition of safe and wholesome water ?
(A) Free from colour and odour

(B) Free from harmful chemical substances

(C) Free from variations of temperature

(D) Free from pathogenic agents

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (A), (B) and (D) Only

(3)  (B) and (D) Only

(4) (A)and (C) Only

Options :

878270153861. 1
878270153862. 2
878270153863. 3

878270153864. 4

Question Number : 106 Question Id : 87827039160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270153861. 1
878270153862. 2
878270153863. 3
878270153864. 4

Question Number : 107 Question Id : 87827039161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are correct statements regarding Contact Survey done for leprosy case
finding ?

(A) Done where the prevalence of leprosy is generally high (10 cases/1000 population)

(B) During it, the technique of choice is examination of all contacts

(C) Itis usually done with discretion so as not to alarm the community

(D) Itis the ideal method for screening of preschool and school children

Choose the correct answer from the options given below :

(1) (A), (B) Only

(8 (COnly
() () (D) Only
4 (A), (D) Only

Options :



878270153865. 1
878270153866. 2
878270153867. 3

878270153868. 4

Question Number : 107 Question Id : 87827039161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270153865. 1
878270153866. 2
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Question Number : 108 Question Id : 87827039162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are advice given to patient undergoing vasectomy ?
(A) To avoid cycling or lifting heavy weights for atleast 15 days

(B) To wear a scrotal support for atleast 15 days
(C) To take a complete bed rest for 15 days
(D) To avoid taking baths for at least 15 days after operation

Choose the correct answer from the Dptiuns given below :
(I) (A)and (B) Only

(2) (B) and (C) Only

(3) (A), (B) and (D) Only

(4) (A), (C) and (D) Only

Options :

878270153869. 1

878270153870. 2

878270153871. 3

878270153872. 4

Question Number : 108 Question Id : 87827039162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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8782701538609. 1
878270153870. 2
878270153871. 3

878270153872. 4

Question Number : 109 Question Id : 87827039163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Following are disadvantages of case control studies in comparison to cohort studies.
(A) Prone of biases

(B) Expensive (Cost is high)

(C) Cannot tell about Incidence of outcome

(D) Temporal Association can be proved better

Choose the correct answer from the options given below :

(1)  (A)and (B) Only

(2) (A)and (C) Only
(3)  (B) and (C) Only
(4) (C) and (D) Only
Options :

878270153873. 1
878270153874. 2
878270153875. 3

878270153876. 4

Question Number : 109 Question Id : 87827039163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270153873. 1
878270153874. 2
878270153875. 3

878270153876. 4

Question Number : 110 Question Id : 87827039164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Following can be classified as “High Risk” pregnancies :
(A) Short statured primi (150 cms and below)

(B) Anaemia

(C) History of previous caesarean delivery

(D) One spontaneous abortion

Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (B) and (C) Only

(3) (A), (B) and (C) Only

(4) (A), (C) and (D) Only

Options :



878270153877. 1
878270153878. 2
878270153879. 3

878270153880. 4

Question Number : 110 Question Id : 87827039164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270153877. 1
878270153878. 2
878270153879. 3

878270153880. 4

Question Number : 111 Question Id : 87827039165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are correct statements regardmg dietary protein ?
(A) Proteins differ from carbohydrates and fats, in that they contain sulphur

(B) A protein is said to be “biological complete” if it contains all the essential amino acids in
amounts corresponding to human needs

(C) Proteins can also supply energy when the calorie intake is inadequate, but this is not their
primary function

(D) Vegetable sources of protein are overall richer in essential amino acids, compared to animal
sources

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B) and (C) Only
(3) (A)and (D) Only
(4) (C) and (D) Only
Options:
878270153881. 1
878270153882. 2
878270153883. 3

878270153884. 4

Question Number : 111 Question Id : 87827039165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270153881. 1
878270153882. 2
878270153883. 3

878270153884. 4

Question Number : 112 Question Id : 87827039166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the goals of the Indian Newborn Action Plan (2014) ?
(A) To attain single digit neonatal mortality rate by 2030

(B) To achieve 100 % institutional deliveries by 2025
(C) To attain single digit still birth rate by 2030
(D) To provide home based newborn care to >80 % of newborn by 2025

Choose the correct answer from the Dptinns given below :

(1) (A), (B) Only

(2) (B), (C) Only
(3) (A), (C) Only
(4) (A), (D) Only
Options:

878270153885. 1
878270153886. 2
878270153887. 3

878270153888. 4

Question Number : 112 Question Id : 87827039166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270153885. 1
878270153886. 2
878270153887. 3

878270153888. 4

Question Number : 113 Question Id : 87827039167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Following are the criteria/considerations for launching a screening program for any disease.
(A) Condition should be an important health problem

(B) There should be effective treatment for the disease

(C) Screening test should not be acceptable by participants

(D) Availability of suitable screening test

Choose the correct answer from the options given below :

(1) (A), (B), (D) Only

() (A), (B), (C) Only
() ®) (C) (D) Only
(@) {4) ©) (D) Only

Options :

878270153889. 1
878270153890. 2
878270153891. 3

878270153892. 4

Question Number : 113 Question Id : 87827039167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270153889. 1
878270153890. 2
878270153891. 3

878270153892. 4

Question Number : 114 Question Id : 87827039168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per IMNC, in a child having severe dehydration following signs can be seen :
(A) Notable to drink or drinking poorly

(B)  Drinks eagerly, thirsty

(C) Lethargic or unconscious

(D) Restless, irritable

Choose the correct answer from the options given below :

(1) (A)and (C) Only

(2) (A)and (D) Only
(3) (B) and (C) Only
(4) (B) and (D) Only

Options :



878270153893. 1
878270153894. 2
878270153895. 3

878270153896. 4

Question Number : 114 Question Id : 87827039168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among the fnlk1wmg food have nil to negligible protein content per 100 gram of the raw
food ?

(A) Milk

(B) Oils and Fats

(C) Soyabean

(D) Sugar

Choose the correct answer from the options given below :
(I) (A)and (B) Only

) (B) and (D) Only

(A) and (C) Only

(

2
(3)
(4) (C) and (D) Only

J
Options:

878270153897. 1
878270153898. 2
878270153899. 3

878270153900. 4

Question Number : 115 Question Id : 87827039169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
freiffian smer) ¥ fofed 91 1 56 Wi 100, T %= SRR ¥ I © F19 B &7
(A) ¥

(B) 0 SR =

(C) H

(D) i

e feu 0 foskedl H @ WE S 1 T I ;
(1) e (A) 3R (B)

(2) A (B) W (D)

(3) % (4) 3R (C)

(4) %@ (C) ¥ (D)

Options :



878270153897. 1
878270153898. 2
878270153899. 3

878270153900. 4

Question Number : 116 Question Id : 87827039170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - II

(Term) (Definition)
(A) Social Anatomy () Deals with the remedies of social problems in the society
(B)  Social Physiology (I) Deals with the prevention of development of social

pathology in the society

(C) Social therapy (IlT) Deals with principal forms of social structure such as family,
primary groups, secondary groups etc. in the society

(D) Social control (V) Deals with the social functions and relationship with in all social
structure

Choose the correct answer from the options given below :

(1) (AR, (BHIV), (CHI), (DH)
(2 (AHIV), (B0, (CH(), (D-{IL)
() (AHI), B, (CHII), D)-(1V)
(4)  (AHID, B)-(, CH1V), D)-0)
Options :

878270153901. 1
878270153902. 2
878270153903. 3

878270153904. 4

Question Number : 116 Question Id : 87827039170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

-1 o T G-I 7 ferm it
Tl LI
o ik
(A) TIfes T () G o wfre S 91 ea 8 9
(B) T W o fomm (1)t o e TSR o o o TR0 € 99§
(C) rfor gers (1) Yy TR e ) v, Ttk i T v e
LR
(D) Tmfee ferm (IV) el T Grariell o W9 Tt Sae qd Wt
a4 8 9 ¢
1o fow o foeped 9 W S 1 T I
(1) (AT, (B)-{V), (CHI), D))
(@ (AHIV), (B)-T), (CH{I), (D)
() (AHD) (B(L), (CHIm), (D)-(IV)
(4) (A, (B)-(), (C)-(IV), (D))
Options :

878270153901. 1
878270153902. 2
878270153903. 3

878270153904. 4

Question Number : 117 Question Id : 87827039171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 1I

Term (most appropriate definition)
(A) Hunger () Deficiencies in energy, protein and/or micronufrients
(B) Hidden hunger (II)  Distress related to lack of food
(C)  Under nutrition (Il) Chronic calorie deficiency with consumption of less than

the minimum energy most people need to live a healthy
productive life

(D) Under nourishment (IV) Micronutrient deficiency when intake or absorption of
vitamin and minerals is too low in children and in adults

Choose the correct answer from the options given below :

(1) (A1), (BRI, (OAL), (DY)

(&) (A, B)-{V), (O-{L), D))
() (AR, B}-V), (O, (D)
(@) (AIV), (BI{IL), (C)-{T), (D))
Options:

878270153905. 1
878270153906. 2
878270153907. 3
878270153908. 4

Question Number : 117 Question Id : 87827039171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tel-L o 91 i1 1 e it
Tl I
L

el e T

(A) @ () %ol Wifed s wewrfze i &

(B) 9@ (1) S 1 FH & FO 2

(C) (Ill) W FavE S G & RO KA F A F A A
ie o ferq, aifeeeiel i 21 e ¢l

(D) & T (V) TERfeae i e o ar qon o foifie aen e &
W AU T T A ¢

7 feu T foered # | W SO T e

(1) (AHD), (B}L), (C(I), D)-(IV)

(@) (A){I), (B)-{V), (-, (D)-(1)

(3)  (A){I), B)-1V), (C-(1) (DHII)

() (A)IV), (B, ()W), (D))

Options:

878270153905. 1
878270153906. 2
878270153907. 3

878270153908. 4

Question Number : 118 Question Id : 87827039172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List- I

Test of validity Formula
(A) Sensitivity () True negative/False positive +true negative
(B) Specificity () True positive/ True positive + False negative
(C) Positive predictive value  (IlI) True negative/Total negative on test
(D) Negative predictive value  (IV) True positive/Total positive on test

Choose the correct answer from the options given below :

() (AT, B)-0), (OHLV), (D)

(2)  (AHD, (B}(I), (C)-(), (D)-(IV)
(3) (A, B)-(I), CH-IV), (D)-0)
(4) (A, (B)-(IV), (C-(I), (D)}(I)
Options :

878270153909. 1
878270153910. 2
878270153911. 3

878270153912. 4

Question Number : 118 Question Id : 87827039172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 o 919 Geit-11 =1 foer i

(A) Hfafeferdd ) g frfeareew affes+z e
(B) Tufafwe () g fsfesrz wfsted + wrew ffe
(©) wfafea fifefara oey () g fifed/dreet fifes oift o=
(D) frifes fosifeed oy (Iv) g wisfea/2rea wivfes s ow
A=t feu Tu forredi § | W& R F =977 I ;

(1) (A)-(ID), B)-1), (OHIV), (D)-(I)

(2)  (A)D), (B)-(I), (C)-(I), (D)-(IV)

(3) (A, (B)-(IID), (©)-{IV), (D)-(1)

(4)  (A)-(I), (B)-(IV), (OHI), (D)-(I)
Options :

878270153909. 1
878270153910. 2
878270153911. 3
878270153912. 4

Question Number : 119 Question Id : 87827039173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

Example of communication barrier Type of communication barrier
(A) Difficulty in hearing ()  Cultural barrier
(B) Emotional disturbances (I) Environmental barrier
(C) Congestion in classroom (Il) Psychological barrier

(D) Level of knowledge (IV) Physiological barrier

Choose the correct answer from the options bwen below :

(1) (A1), (B)-(LI), (C)(), (D)-(IV)
(2) (A, (B)-(I), ©-(IV), (D)-0)
(3)  (AHIV), (B-IL), (CHIL), (D)-(I)
(4) (A, (B)-(IV), (C-(I), (D)}(I)
Options :

878270153913. 1
878270153914. 2
878270153915. 3

878270153916. 4

Question Number : 119 Question Id : 87827039173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife

-1 -1
HE ST ShT IS0 HE STeT ShT WehTL
(A) FTH H o (I)  GiEFRfdes a1
(B) WIETeHR G (II) Ao arel
(C) T &q ¥ sfrgure (L) HAETF =T
(D) 3 o & (IV) 9t foban amen

= feu 7o foredi § | W& I 1 = ST
(1) (A, (B)-(1), (C)-(), (D)-(IV)

(2)  (A)-(ID), (B)-(ILT), (C)-(IV), (D)-(I)

(3)  (A)-(IV), (B)-(IIL), (C)-(11), (D)-(D)

(4)  (A)I), (B)-(1V), (O)-(I), (D)-(IT)

Options :

878270153913. 1

878270153914. 2

878270153915. 3

878270153916. 4

Question Number : 120 Question Id : 87827039174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11

List - I List - II
Vector Disease
(A) Hard tick (I)  Scrub Typhus
(B) Soft tick (II) Endemic Typhus
(C) Mite (III) Rocky mountain spotted fever
(D) Flea (IV) Relapsing fever

Choose the correct answer from the options given below :
(1) (A)-D), (B}-(II), (O)-(IV), (D)~(11L)

(2)  (A)I), (B)-(IV), (O)-(I), (D)-(II)

(3) (A1), (B)-(IV), (O)-(I1L), (D)-(I)

(4)  (A)IV), (B)-(IID), (O)(ID), (D)-(T)

Options:

878270153917. 1

878270153918. 2

878270153919. 3

878270153920. 4

Question Number : 120 Question Id : 87827039174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife
-1 -1

TTeTEeh T
(A) € fem () Thd CEHH
(B) Wiw few (1) T=fHF 2EF
(C) FH (WEL) (1) TfhT TS e HeR
(D) foeg (fowedt) (V) ferfEn wier

= feu 7o foredi § | W& I 1 = ST
(D) (AL, (B)-(I), (O)-(1V), (D)-(IL)

(2)  (A)II), (B)-(IV), (C)-(I), (D)-(IT)

(3)  (A)-(ID), (B)-(IV), (C)-(11I), (D)-(D)

(4)  (A)-IV), (B)-(1L), (O)-(1L), (D)-(I)

Options :

878270153917. 1

878270153918. 2

878270153919. 3

878270153920. 4

Question Number : 121 Question Id : 87827039175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
Minimum age at which, vaccine can be Vaccine
given as per NIS of India 2023
(A) 9 months (I}  Rotavirus vacine 2 (Rotavirus vaccine second
dose)
(B) 14 weeks (I - PCV Booster (Pneumococcal conjugate vaccine

Booster dose
16 months -[PV-2 (fractional-inactivated polio vaccine
C) 16 tl [M) f-IPV-2 (fractional-inacti dph
second dose)
10 weeks -Booster (Oral polio vaccine booster dose
D) 10 week: V) OPV-B 0 lp li b d

Choose the correct answer from the optiuns given below :

(1) (AHIV), (BI0), CH(LD, DH)
() (AR, (Bj(ID) (C-(H), (D)-(IV)
() (A)-{ID), (B, (CHIV), (D)-()
(@) (A, B)-0), (©-1V), (D)
Options:

878270153921. 1
878270153922. 2
878270153923. 3

878270153924. 4

Question Number : 121 Question Id : 87827039175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tel-L o 91 i1 1 e it
Tl LI
T 30T W AT gfean a 2023 Eica)

o ITHT 21 31 T A

(A) 9% () e o 2 (G50 2)

(B) 1494 () Ot 3 T (R e o T E)

() 16%& () U6 &% W o 2 (FFT FRAT Ned aF
LEESCIEY

(D) 1094’ (IV) 3t it e ( i Tiferel o et &)

el e U el o 9 WY SR o 9 FIC

(1) (AHIV), (BHI), (CH(I), (D)
(3 (A){1), (BHL), (CH(), (D-(IV)
() (A, B)-(), C-(1v), (D))
() (A)HI), B)-0, (C-1V), (D)
Options:

878270153921. 1
878270153922. 2
878270153923. 3

878270153924. 4

Question Number : 122 Question Id : 87827039176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - 1I
Standard of ventilation (with units) Value
(A) Cubic space per person (cubic feet) () 46
(B) Air changes in one hour in workrooms (number) (I)  1000-1200
(C) Floor space per person (square feet) (I 10-12
(D) Maximum height of room, (feet) above which ineffective (IV) 50-100

from the point of view of ventilation
Choose the correct answer from the Upl‘iuns gi\.ren below :

(1) (A, B)-(), ©)-{V), (D)0

(2)  (AHIV), (BH), (€}, (DHI)
() (AHIV), (BHIL), (C)-(L), (D)-0)
(4) (A, B0, (OALV), (DHIL)

Options:

878270153925. 1
878270153926. 2
878270153927. 3

878270153928. 4

Question Number : 122 Question Id : 87827039176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tefl-1 % W Gelt-11 1 et i
Tl -1
HaTe &1 W (9fE % W) ey

(A) Wit o o @ (Ffo i) ) 46

(B) A Fefi H U 5 H a7y Uite (gE) ()  1000-1200
(C) e SR ¥l ol T (TR i) (I 10-12
(D) T H HeTW FalG ook ST HaTed g & T e (Fe)  (IV) 50-100
A feu o femmed # W SR H T FC ;

(1) (A, (B)-(I), (©)-V), (D)-(1)

(@) (AHIV), (BII), (CR(ID), (D)-(I)

(3)  (ARIV), (B)-(II), (OHII), (D)-()

(4) (A, (B)-(T), (CHIV), (D))
Options :

878270153925. 1
878270153926. 2
878270153927. 3
878270153928. 4

Question Number : 123 Question Id : 87827039177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II

System of Medicine Characteristic feature
(A) Ayurveda (I}  Propounded by Samuel Hahnemann, a German
(B) Homeopathy (I) Practised in Tamil-speaking areas of South India
(C) Siddha (II) Tridosha theory of disease

(D) Unani (IV) Origin can be traced to ancient greek medicine
Choose the correct answer from the options given below :
1) (AMD), (B-(I), (CHIL), (D)-(V)

(

(@) (AHI), B-1V), (1), (D)
(3)  (AHI), B}, (CH), (D}-IV)
( {

) (A
) (A
1) (AHIV), (B}, (O, OHI)

5
A)
Options :
878270153929. 1
878270153930. 2
878270153931. 3

878270153932. 4

Question Number : 123 Question Id : 87827039177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 o T -1 % e i
-l Eeidll

ferfepeem womrett fergrerad
(A) () e S Eegera efa g wfawfed fo
(B) et (1) e o 3 afer ot 4 o e &
€ fag (111) 3 = ot fgia
(D) T (IV) T9a! YT W e feferean wonelt & e &1 e @
7 fou o fasredt © @ w8 SR F A F0
(1) (A)-() (B, (CHII), (D)}-IV)
(@) (A, B)}-IV), (C-0), (D)-(Im)
() (A)-(Im), (BI), (C1(I), (D)-(V)
(4)  (A)-(1V), (B, (CHD, (D)-(m)
Options :

878270153929. 1
878270153930. 2
878270153931. 3

878270153932. 4

Question Number : 124 Question Id : 87827039178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - II
Disease caused Causative agent
(A) Syphilis (I)  Haemophilis ducreyi
(B) Chancroid (II) Treponema pallidum
(C) Donovanosis (IlI) Human Papillomavirus
(D) Genital warts (IV) Calymmatobacterium granulomatis

Choose the correct answer from the options g'wen below :

(1) (A, (B)D), (CHIV), (D)-(II)

(2) {){){){)(C){){){)
(3)  (A)-(D), (B}-(I), (C}-(M), (D)-(IV)
@ (AW, (B)-(), (O-V), (D))
Options :

878270153933. 1
878270153934. 2
878270153935. 3

878270153936. 4

Question Number : 124 Question Id : 87827039178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife
-1 -1

T T ST S
(A) Tafrfem (1) eHifrfo g
(B) VFR=E (1) T Gferew
(C) BHEAEH (I11) Bg&A SfqemmETE
(D) SHATHEET (IV) hfcwe! sifezay Tqamied

= feu U fosredi § € W& IO 1 =4 HifAC
(1) (A, (B)-(1), (O)-(IV), (D)-(IT)

(2)  (A)-(ID), (B)-(IV), (C)-(L), (D)~(1IT)

(3)  (A)-(ID), (B)}-(IIL), (C)-(II), (D)-(IV)

(4) (A1, (B)-(I), (O-(1V), (D)-(II)

Options :

878270153933. 1

878270153934. 2

878270153935. 3

878270153936. 4

Question Number : 125 Question Id : 87827039179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11

List - 1 List - II
STI Kit (as per NACP, India) Syndrome
(A) Kit1 (Grey) (I)  Inguinal bubo
(B) Kit 2 (Green) (II)y  Urethral discharge
(C) Kit 4 (Blue) (IIT) Genital ulcer
(D) Kit 7 (Black) (IV) Vaginitis

Choose the correct answer from the options given below :
(1) (A1, B)-©), (O-1V), (D))

(2)  (A)(ID), (B)-(IV), (O)-(I1I), (D)-(I)

(3)  (A)-(D), (B)-(IL), (C)-(IV), (D)-(1I)

(4)  (A)D), (B}(IV), (C)-(ILT), (D)-(IT)

Options:

878270153937. 1

878270153938. 2

878270153939. 3

878270153940. 4

Question Number : 125 Question Id : 87827039179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |19 Gelt-11 =1 fiei IS
-1 TE-11
TA & o fofe (T U H f, WA OFTER) ST W

(A) TRe 1 () () =% 9y fireEd
() fFe2 (@ (I Aww
(C) T&e 4 (drem (IT) ST AR
(D) fee 7 (aTem) (V) @y

At foau U fospedi H § W& I FH TAH HIWC ;

(1) (A, (B)-(1), (C)-(IV), (D))

(2) (A1), (B)-(IV), (O)-(D), (D)-I)

(3) (A1), (B}-(HI), (CH(IV), (D)-(IT)

4 (A)-(D), (B)-(IV), (C)-(III), (D)-(II)

Options :

878270153937. 1
878270153938. 2
878270153939. 3

878270153940. 4

Question Number : 126 Question Id : 87827039180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following committees as per year of their report in a chmnological order from oldest
to newest :

(A) Shrivastav committee
(B) Bhore committee

(C) Jungalwalla committee
(D) Chadah committee

Choose the correct answer from the optinns given below :

(@) € B) D)

Options:

878270153941. 1
878270153942. 2
878270153943. 3

878270153944. 4

Question Number : 126 Question Id : 87827039180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

femafeiaa wifadl 1 3% Fftoed S 99 & FEHATER T4 | Tamad & F6 5 J90 ;
(A) Herea gff

(B) 9 wfwfd

(C) e HfHfd

(D) g HiH

e feu mu fomedi o @ WE SO T Fo

() (A), ©) (B) D)

, (D), ©), (A)

(B)
©), (D), (A), ()
(

(2
(3)
(4) () (A)(©) (B)

Options :



878270153941. 1
878270153942. 2
878270153943. 3

878270153944. 4

Question Number : 127 Question Id : 87827039181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of Randomized Controlled Trials from first to last :
(A) Drawing up a protocol

(B) Follow-up

(C) Randomization

(D) Selecting Reference and Experimental Population

Choose the correct answer from the options given below :

(1) B). (4), (D) ©)

(2)  (A) @) (C), B)
@3 (© (B) (A) (D)
(4) (D), (©) (B) (A)
Options :

878270153945. 1
878270153946. 2
878270153947. 3

878270153948. 4

Question Number : 127 Question Id : 87827039181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



e Al T & fefafad = #1 weam | ol & %9 # sefen #if
(A) Tosl TaER # T R

(B) ST

C) e o=

(D) HeY T TR S ol w

e feu o fasmedi 7 9 WE AT H T HiorC :

(1) (B). (4), (D) ©

A), D), (C), (B)

(
(©), (B), (A), (D)
(D), (©), (B), (4)

(2)
(3)
(4)
Options:

878270153945. 1
878270153946. 2
878270153947. 3
878270153948. 4

Question Number : 128 Question Id : 87827039182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of Behavior Change Communication process from first to last :
(A) Knowledgeable

(B) Unaware

(C) Informed/Aware

(D) Concerned

Choose the correct answer from the options given below :

(1) (A) (B), (C) (D)

2)

Options :

878270153949. 1



878270153950. 2
878270153951. 3

878270153952. 4

Question Number : 128 Question Id : 87827039182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SRR SE FYTU §foRn ok FAfeifad =R o wew | i o FH W Fafed S ;
(A) STHER

(B) &FF

(C) i

(D) e

2 feu o fommedi @ @ WE SO T o
(A), (B), (C), (D)

(D), (A), (B), (©)

(8), (C), (D), (A

(©), (D), (A), (B)

Options :

878270153949. 1

878270153950. 2

878270153951. 3

878270153952. 4

Question Number : 129 Question Id : 87827039183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following legislations chronologically from oldest to most recent one :
(A) Domestic Violence Act

(B) Narcotic drug and psychotropis substances
(C) Employees state Insurance Act (ESI act)
(D) Registeration of Birth and Death Act

Choose the correct answer from the Dpt'ums given below :

(1) (B) D) (A) ©

Options:

878270153953. 1
878270153954. 2
878270153955. 3
878270153956. 4

Question Number : 129 Question Id : 87827039183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frferfiaa S it FTHFATIR qOE F FhTad & w0 H T
(A) =g féar stfufam
(B) T&TUF Y R HA: IS varef AfufTam
(C) =Rt e s sAfufam (3 Uy o TR)
(D) & a1 g dsfierTo stfufam
= fou 7o fawedi # 9 WE 3O & 999 FHIf
() (B), (D), (A), (©)
(2) (D) (A) (C), (B)
(3) @A) B), (D) ©)
4) (©), (D), (B) (A)

Options :

878270153953. 1



878270153954. 2
878270153955. 3

878270153956. 4

Question Number : 130 Question Id : 87827039184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of stages of material parasite since the time of entry is human host ?
(A) Microgametocyte

(B) Merozoites

(C) Trophozoite

(D) Sporozoites

Choose the correct answer from the options given below :

(0 @) @) @) ©

(2) (D) (B), (A), ©)
() (©) @), ©) A
() (8) (C) (D), (A)
Options :

878270153957. 1
878270153958. 2
878270153959. 3
878270153960. 4

Question Number : 130 Question Id : 87827039184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I o Heafaan YrErde & Y99 & 91 % 9L < el Y H G ?
(A) TRFHNTEEES

(B) WIFARH
(C) TFrarEE
(D) TR

= fou 7o fawedi § 9 Qe 39 1 999 FIf
(1) (A), (D), (B), {C)
(2) (D), (B), (A),

©
(3) D) (B), (O (A)
4)  (B). (©), (D) (A)

Options:

878270153957. 1
878270153958. 2
878270153959. 3

878270153960. 4

Question Number : 131 Question Id : 87827039185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the option which gives the correct sequence of steps for the usage of Wealth Index calculation
as was used in National Family Health Survey (NFHS) -4

(A) Standardization of assets scores in relation to Normal distribution

(B) Assigning weightage to each household assets using Principle Component Analysis (PCA)
(C) Sample is divided into quintiles

(D) Collecting household asset data and housing characteristics.

Choose the correct answer from the options given below :

() © (D) B) (&)

(@ ) @) &) ©
() () D) (C) (A
(4) (&), () D), ©

Options :



878270153961. 1
878270153962. 2
878270153963. 3

878270153964. 4

Question Number : 131 Question Id : 87827039185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T YT e 98 (T 0 T O)-4 § N o 0 o gerees oW o o ferw o & W
% % fohed 1 ear %1

(A) T T & e W Tt TR A

) fifve e feremn (% T) 1 i R gL T R A O # e o

(C) T fofeeerd ¥ foma e

(D) ¥ ! STl qon e foauuaet 1 sl T

1 fou T foed o 9 T R 91 7 0

(L) (©), (D), @) (4)

Options :

878270153961. 1
878270153962. 2
878270153963. 3

878270153964. 4

Question Number : 132 Question Id : 87827039186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Correct sequence in Maslow’s hierarchy of needs from top priority need upwards (from bottom to
top of pyramid) is given by :

(A) Survival needs

(B) Physiological needs

(C) Esteem needs

(D) Social needs

Choose the correct answer from the options given below :

@ () (©, (A) D

,(C)

Options:

878270153965. 1
878270153966. 2
878270153967. 3

878270153968. 4

Question Number : 132 Question Id : 87827039186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TRl 1 AR SR 1 S TRl ST 3 e g A g (e & e R aw A
#N) |

(A) STEHa e

(B) fe e

(C) T e

(D) HHITSHR SEw

e fw T foered o § W& T 91 799 H0

@) @), (C), (A) D)

2) (D) (A) (C), (B)

3) (B (4) (D), (©)

(
3 (),
4 (©, (D) ®) (4)



Options :

878270153965. 1
878270153966. 2
878270153967. 3
878270153968. 4

Question Number : 133 Question Id : 87827039187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the sequence of nuclear family life cycle stages ?
(A) Extension

(B) Contraction

(C) Dissolution

(D) Formation

Choose the correct answer from the options given below :

(1) ®) D) (@A) ©

@ O &) 6)©
() (©, () (A), (D)
(4 (A ®)(C) D)
Options:

878270153969. 1
878270153970. 2
878270153971. 3

878270153972. 4

Question Number : 133 Question Id : 87827039187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafas § 9 % v yRar Sied =% TH & 6 F9 F1 590 € 7
(A) TR
(B) HEHF=
(C) faem=a
(D) TeH
T feu 7o fomredi # 9 Wa FO 999 F e
(1 (B), (D), (A), (©
(2 (D), (A) (B), (C)
3)  (©), (B), (A), (D)
(4) (A), (B), (O), (D)
Options:
878270153969. 1
878270153970. 2
878270153971. 3

878270153972. 4

Question Number : 134 Question Id : 87827039188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following as per increasing order (lowest to highest) of requirement of daily intake of
Vitamin B12, as recommended by Indian Council of Medical Research (ICMR) in Nutritional
Requirements for Indians, year 2020.

(A) Infants and children

(B) Lactation

(C) Normal adults

(D) Pregnancy

Choose the correct answer from the options given below :

(1) (&), ) D) ©

@ (4),© D) @
G © D) B) (4)
(4 (© (A) ®) D

Options :



878270153973. 1
878270153974. 2
878270153975. 3

878270153976. 4

Question Number : 134 Question Id : 87827039188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

faeififiga %1 orafiem o ae g o (Frevam & germ) frifie B12 ) 2 omvs @

ST, 3fean wisfae ot e o (o ol O 9R) g0 Il Orek o fert a1 2020 o G

R

() fom oo

B) g e

(C) HH a7

(D) TIoferdt wfeen

e fou T forfedl o 9 W@ S 1 9 i

(1) (A) 6), O) ©
(

Options :

878270153973. 1
878270153974. 2
878270153975. 3

878270153976. 4

Question Number : 135 Question Id : 87827039189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the correct chronological order (oldest to newest) of their introduction
in the National Health Programme for Tuberculosis in India.

(A) Bedaquiline

(B) DOTS (Directly Observed Treatment Shortcourse)

(C) PMDT (Programmatic Management of Drug resisted Tuberculosis)
(D) Truenat

Choose the correct answer from the optians given below :

() () (C) (4) D)
) (D) (A) (B), (C)
©, (8), (D), (4)

) (4)

2
(3)
(4) (8 (D) (), (A

J
Options:

878270153977. 1
878270153978. 2
878270153979. 3

878270153980. 4

Question Number : 135 Question Id : 87827039189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
e & T & o T e e o fe e & day o et 3 wd w o g
(T ¥ Tl )

A1 fe 7 ot 9 W R 7 o A

(1) ®) ©) A) D)
2) (D) (&) ®)©



Options :

878270153977. 1
878270153978. 2
878270153979. 3
878270153980. 4

Question Number : 136 Question Id : 87827039190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The general belief that mountain streams are source of very pure water, is often
untrue

Reason (R):  Even if there is no human habitation or cattle near, there is still a possibility of
contamination caused by wild animals

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
,)

3
4

Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(
(
(

)

) (A) is correct but (R) is not correct
) (A) is not correct but (R) is correct
Options:

878270153981. 1
878270153982. 2
878270153983. 3

878270153984. 4

Question Number : 136 Question Id : 87827039190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Al 31 e fou U E: v Afirmem (Assertion A) % w1 ffga ¢ & T T4 (Reason R) E]

ke

AR (A) : TR A farvr o R A onfe g i 2 €, T e ¢

T (R): I SR T T SR o 7 e W e g S A W
@l

TG o % ST H, Ao o T o R Suge S T

(1) (A) S (R) 3 W8 & 4R (R), (A) 3 T oen &

() (A) 3 (R) S W %, A (R), (A) F1 T SR TG &

(3) (AT E o R) TS T C

(4) (A) % T ¢ il (R) 5@ &

Options:

878270153981. 1
878270153982. 2
878270153983. 3
878270153984. 4

Question Number : 137 Question Id : 87827039191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Ecological Fallacy is an association which has been seen among variables on an
aggregate level but may not necessarily reflect an association at individual level

Reason (R):  In Ecological study we have data only for groups and do not have exposure and
outcome data for each individual

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(

4)  (A) is not correct but (R) is correct



Options :

878270153985. 1
878270153986. 2
878270153987. 3
878270153988. 4

Question Number : 137 Question Id : 87827039191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A4 € Fo feu 0 E: 0 afemem (Assertion A) F & i frfga 4 FRl S T (Reason R) F

EH R

Hwe (A) : TR o () U T HaY ¢ o T () WO TS e ¢ fog
e STV B9 B T ¢ W o 72 Al T R g e e g

TOR): RS A E e & A SR (9 @ A € 0 vE W F A
SR W T e e T A £

T HYA % A H, A9 feT T forred § § W et S 99 A

(1) (A) 3 (R) <1 5@ & 4R (R), (A) 3 Wl A &

() (A) SR (R) SHI 56 &, A (R), (A) F T e TE &

(3) (A) T E oo (R)FE T €

(4) (A) T T @ e (R) TR &

Options:

878270153985. 1
878270153986. 2
878270153987. 3

878270153988. 4

Question Number : 138 Question Id : 87827039192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Descriptive Epidemiological study is helpful in generation of Hypothesis
Statement (II) : Descriptive study is having a ‘Comparison group’

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options :

878270153989. 1

878270153990. 2

878270153991. 3

878270153992. 4

Question Number : 138 Question Id : 87827039192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁawmﬂﬂﬁz

TYT (1) :  FUARHE SUICEH YOHH ST FRReI o 3curd H Had &
H (1) : IUAIHE ST § T e o ¢

IR FUA F A °, A9 o T fawed § 9 g I 1 95 Fife;

(1) YT 3R HAA 1T T €

(2) TR HAT I I 30A ©
(3) YT I T &, IR e 11 319 ¢
(4) T [ HEH T, AT RETIFA ¢
Options :

878270153989. 1

878270153990. 2



878270153991. 3
878270153992. 4

Question Number : 139 Question Id : 87827039193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  APGAR score is a method to assess the health of a newborn child immediately
after birth

Statement (II) : A low score at 5 minutes is more serious than a low score at 1 minute

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect
) Statement I is correct but Statement Il is incorrect

(
(3
(4)  Statement I is incorrect but Statement I is correct
Options :

878270153993. 1

878270153994. 2

878270153995. 3

87827015399%6. 4

Question Number : 139 Question Id : 87827039193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



%ﬂ%ﬁqw%:

FUT () : TS T AR R T O] T F G E WA T e ¢
T (L) : 5 e T et T ey iofie wrven 2k € e 1 fve et w3
WG YA % e 8, A fou o fowedi # | W S 1 W Ff

(1) e 13N ®e 11 THI T &

() AR KO T A §
(3) YA 1§ ©, Wi e 11 39 ¢
(4) YT AEA B, Wi YT TA ¢
Options:

878270153993. 1
878270153994. 2
878270153995. 3

878270153996. 4

Question Number : 140 Question Id : 87827039194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Transitional Societies may be better able to cope up with change and modern
societies are perhaps best adapted to assimilate rapid changes compared with
traditional societies

Reason (R):  In traditional society the young people can be fairly sure that their lives will be
substantially similar to their parents while in the modern society young people
can be fairly sure that their lives will be substantially different from their parents
and that their children'’s lives will be different from their own

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R} are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct
(

4)  (A) is not correct but (R) is correct



Options :

878270153997. 1
878270153998. 2
878270153999. 3
878270154000. 4

Question Number : 140 Question Id : 87827039194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
4 ¢ Fo fou T E F v (Assertion A) F & i frfga £ 41 Rl THF HIW (Reason R) F
wH
AR (A) :  FHATHEAR TS TR & FY ORGSR B G ¢, SR § @i
a1 AT A W W A 2 €, W Sl A g |
FROR): AR TS 7 T O SR 8 e € [ IR St ST - o
e % ¥ WA S| Sl e G § 7 i 3 9 e 2 W ©

TR o 3 - Tt & Sfter B awafe &9 it 3 o 7 15 39 9=
e 39 A St § fie 2

T FoA o o , A few o o 9 Wad SugER I T A
(1) (A) 3T (R) < 5& & 4R (R), (A) 3 ¥l o2 &

() (A) 4R (R) S T & A (R), (A) F T8 A TE &

() (A) T € oo (R) ¥ Tl ¢

(4) (AT & A R) T &

Options:

878270153997. 1
878270153998. 2
878270153999. 3
878270154000. 4

Sub-Section Number : 2
Sub-Section Id : 8782701645

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Id : 87827039195 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Data collected from an area having Mid Year Population (MYP) in year 2022 of 10,000. The
demographic data of Age-group 1544 years is given in the table below :

Number of
live births
15-24 years| 740 | 700 | 1440 | 98
25-34 years| 830 | 800 | 1630 | 120
35-44 years| 530 | 500 | 1030 62
Total | 2100 | 2000 | 4100 [ 280

Age group |Males Females|Total

Sub questions

Question Number : 141 Question Id : 87827039196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the fullowmg best represents the calculation of Crude Birth Rate for the year 2022 of
the area from the above data ?
280
10000
280

— x 1000
2 4100

0
9 20

280
® 2000

X 1000

X 1000

X 1000

Options :



878270154001. 1
878270154002. 2
878270154003. 3

878270154004. 4

Question Number : 142 Question Id : 87827039197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Age Specific Fertility Rate (ASFR) for the age group 25-34 years for the year 2022 of the area
from the above table will be (with multiplier as 1000 for calculation).

(1) 1%
) 140

Options :

878270154005. 1
878270154006. 2
878270154007. 3
878270154008. 4

Question Number : 143 Question Id : 87827039198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following best represents the calculation of General Fertility Rate (GFR) for the
year 2022 of the area from the above table :

ﬁ X 1000
X0

%0
—— % 1000
@

280 < 1000

() 00

218
(4) e X 1000

Options:

878270154009. 1
878270154010. 2
878270154011. 3

878270154012. 4

Question Number : 144 Question Id : 87827039199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following range best covers calculated Total fertility rate (TFR) for the year 2022 of
the area from the above table ?

(I)  Less than or equal to 1.9
(2) Between2-29

(3) Between3-39

(4)  More than or equal to 4
Options :
878270154013. 1
878270154014. 2
878270154015. 3

878270154016. 4



Question Number : 145 Question Id : 87827039200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following best represents relationships between Gross Reproduction Rate (GRR) and
Total Fertility Rate (TFR) ?
() GRR=2x TFR

1
2) GRR = E}x TR

1
() GRR= ﬂx TR

(4 GRR =3 x TR

Options :

878270154017. 1
878270154018. 2
878270154019. 3

878270154020. 4

Question Id : 87827039195 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



A & i afer (wRon) o ufen ve 3 W e e @ I df
ferett &7 fersw 3 = 2022 10,000 @ (% wem % SN B Fafw RS Wfed o |
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T T | A | FA |S T e
1524 740 | 700 | 1440 9
534 830 | 800 | 1630 120
35-44ad 530 | 500 | 1030 62
FA | 2000 | 2000 | 4100 280

Sub questions

Question Number : 141 Question Id : 87827039196 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
feerfin ® 9 i 9 fored ST el 9 & fom 1 o 2022 ¥ S S R A TR A
TR T 8 T 4l ¢/

B0

10000

2 @ X 1000
4100

= x 1000

)

280
— X 1000
4 2000

Options :

878270154001. 1
878270154002. 2
878270154003. 3

878270154004. 4



Question Number : 142 Question Id : 87827039197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

IR iR § ¥ 2022 % U 25-34 o0 SY-TE o fofw amg ol Yo R (T TH W 3)

fepet 2T 7 (TR o TR o ¥9 % 1000 % WY U T AFE 1 @ )

(1) 13
(2) 140
() 145
() 150
Options :
878270154005. 1
878270154006. 2
878270154007. 3

878270154008. 4

Question Number : 143 Question Id : 87827039198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

T fcre H ¥ oY 2022 & FH T S (S T SR) 1 O ] et § § 91 SR 6
T € 7

280
1) —— x 1000
() 10000
280
(2) —=x1000
4100
280
B —X 1000
2000
218
5 —— x 1000
Y 2000

Options :



8782701540009. 1
878270154010. 2
878270154011. 3

878270154012. 4

Question Number : 144 Question Id : 87827039199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
IR Tl H Y U 2022 H Fel T (2 T ) 0 A feferfiad § 4 @M W g
AT T § aeie i ¢
(1) 19 % FH H9 395 TR
() 2-29% WA
(3) 3-39F 77
(4) 49 fem o 4 F TR
Options :
878270154013. 1
878270154014. 2
878270154015. 3

878270154016. 4

Question Number : 145 Question Id : 87827039200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fewafetfiee o 9 19 Fhet T <0 (St R A1) T o Pl &R (21 U ) o 7 el 91 Feld0
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1
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Options :
878270154017. 1
878270154018. 2

878270154019. 3

878270154020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701646
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827039201 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the following paragraph and answer the questions from :

A 56 year old person visited the hospital with complaints of cough for last forty (40) days, high
grade fever of last thirty (30) days. On taking history, person said that he was having 70 kg body weight
two months back and now his weight is 54 kgs.

Person was not having any previous history of long illness or long treatment of same for more than
amonth. Treating doctor had advised him for sputum smear examination, Chest X-ray, CBNAAT
(cartridge based nucleic acid amplification test), liver function test and kidney function test.

In investigation reports, it was found that the person is having sputum smear positive tuberculosis.
Then, treating doctor prescribed him fixed dose combination (FDC) of drug namely Isoniazid, Rifampicin,
Pyrazinamide and Ethambutol.

Sub questions

Question Number : 146 Question Id : 87827039202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In context of above scenario this person is to be registered on which portal of National Health
Program of India ?

(1) Nirbhaya

(2)  Nikshay

(3)  Nishchay

(4) Niramaya
Options :
878270154021. 1
878270154022. 2
878270154023. 3

878270154024. 4

Question Number : 147 Question Id : 87827039203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In context of above scenario and before advising the person for investigations what was the most
likely diagnosis in the doctor’s mind for the person.

(I) Presumptive Pulmonary TB

(2) Presumptive Extrapulmonary TB

(3)  Presumptive Pediatric TB

(4)  Presumptive Drug resistant -TB

Options:

878270154025. 1

878270154026. 2

878270154027. 3

878270154028. 4

Question Number : 148 Question Id : 87827039204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In context of above scenario, following investigations are the part of diagnostic algorithm for the
purpose of making the diagnosis of Adult Pulmonary Tuberculosis as per National Tuberculosis
Elimination Program (NTEP) program EXCEPT :

(1) Chest X-Ray

(2)  Sputum Smear Examination

(3) CBNAAT

(4)  Liver function test

Options :

878270154029. 1

878270154030. 2

878270154031. 3

878270154032. 4

Question Number : 149 Question Id : 87827039205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In context of above scenario, which of the following drug is most likely to cause the Red Colouration
of Urine during the course of treatment.

(1
(2
(3
(

[soniazid

Pyrazinamide

4)  Ethambutol

; Rifampicin
)

)

Options:
878270154033. 1
878270154034. 2
878270154035. 3

878270154036. 4

Question Number : 150 Question Id : 87827039206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In context of above scenario and on the basis of weight of person, How many fixed dose combinations
(FDC) tablets are to be given daily in the first two months of commencement of treatment as per

NTEP.

(1) 04
(2) 06
(3) 08
(4) 10
Options :

878270154037. 1
878270154038. 2
878270154039. 3

878270154040. 4

Question Id : 87827039201 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (146 to 150)



Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827039202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

IR WG B 4R F T @R FAFH & R0 TEA W 36 e P usiga e mm?

(1) frsn
Q e
(3) =
(4) e
Options :

878270154021. 1
878270154022. 2
878270154023. 3
878270154024. 4

Question Number : 147 Question Id : 87827039203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR GGy H 1 T 2 < e o o ol it o wifireh W 39 aafert o forw e 419 W
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Options:

878270154025. 1
878270154026. 2
878270154027.3

878270154028. 4

Question Number : 148 Question Id : 87827039204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

IR gy FreAferfed 9 B 51 T T 91g o I Hl T & A Ier HE (T 2
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Options :

)
)
)
)

878270154029. 1
878270154030. 2
878270154031. 3

878270154032. 4

Question Number : 149 Question Id : 87827039205 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
IR TGy W 3e o S Frefeien § @ 9 o ¥ i I e 9 gl e ¢
(1) emsE
) fiwdfe
3) TERNEE
(4) T
Options:
878270154033. 1
878270154034. 2
878270154035. 3
878270154036. 4

Question Number : 150 Question Id : 87827039206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
TRV TGYA H, T 39 A o T o FHR T 3 E T o S 39 AR H R T I o 94

< W H e o e (T 1 &) fore Fuifea e fean smom yffed ?
(1) 04

EB) 08
4) 10
Options:
878270154037. 1
878270154038. 2

878270154039. 3
878270154040. 4



